
� � � � � � � 	 
 � � � � � � 
 � � 	 � � 	 � � � � � � 	 � � 	 � � � � � � � � � 	
���� ���	
��
�� �
� 	���
�����		
� ���������� �� ������������ �
�
�� ����	 � ���!��""��"���� �� #��� ���!��""�����$�
%%%% &&&& ���� ���� ���� 				 ���� '''' ���� ���� 



 (((( 



 )))) ���� 



 &&&& ���� ���� ���� 



 **** ���� **** ���� 



     ++++ 



 ���� ,,,, ,,,, ,,,,     ���� 



 &&&& ���� ���� ���� 



 **** ���� **** ���� 



     ++++ 



 ����
����

�
�
�
�
�
�
�
�
�
�
�
�
�

�	��	�����	������	���������� !�	��	
����"�"��	#	

�
�
�
�
�
�
�

-.��/-��
�

0
�(
�1��0�
�

��������

		��%%22%%334444%%..55��

6/773883/9�9:"�

;��/43�3<5%8�8/63.4%8���/43�3<5%8��%�4.�2344%�%���%�4=>.�3�.����/43�3<5%8��%�4.�
8.9�%�%���5�8�/-����/43�3<5%8�654�5-%44%8�%��4/383-8�?�

�
�
�
�
�
�
�
�
�
�
�

�
8%.96%��4%93%-%��5����9/2%7�-%����!�

�
�



�

� ��

�
�
�
�
�
�
�
�
�
�

�����������	
����
�
���
����

��������
�����
����
����	
����
�
��������������������������
�
������	

�������	�������
���
����
����������
��������
�������
���������������	��	���������
��������


��
��������
��������
�� 
�������������������	��������������
�
������
���

����
!�"�
�

�

��
��4.>3-%��(����	�*�
���$$$ �
�
�
��
�



�

� ��

8/77.3-%�

REMERCIEMENTS AUX PERSONNES AUDITIONNEES ...................................................................................... 4 

COMMISSION N° 4......................................................................................................................................................... 6 

LISTE DES ABREVIATIONS........................................................................................................................................ 7 

INTRODUCTION ............................................................................................................................................................ 8 

1. EVOLUTION DU CONTEXTE REGIONAL  DEPUIS 2002 ........................................................................... 11 

1.1. LA MISE EN PLACE DE LA MISSION REGIONALE DE LUTTE CONTRE L’ILLETTRISME DE L’ANLCI...................... 11 
1.1.1. Eléments de cadrage nationaux ..................................................................................................................... 11 
1.1.2. Des débuts chaotiques en Bourgogne ............................................................................................................ 12 
1.1.3. Le Plan régional de lutte contre l’illettrisme (PRLCI) .................................................................................. 13 

1.2. LES AVANCEES................................................................................................................................................. 14 
1.2.1. Une meilleure connaissance quantitative et qualitative des publics.............................................................. 14 
1.2.2. Un important travail de mise en réseau des ressources................................................................................. 17 
1.2.3. Les commissions thématiques de mise en œuvre du PRLCI ........................................................................... 17 
1.2.4. Le plan de prévention de l’illettrisme ............................................................................................................ 18 

2. LA LUTTE CONTRE L’ILLETTRISME EN BOURGOGNE......................................................................... 19 

2.1. MULTIPLICITE DES ACTEURS DE LA LUTTE CONTRE L’ILLETTRISME : QUELLES ACTIONS ?............................... 19 
2.1.1. Le Conseil régional de Bourgogne................................................................................................................. 19 
2.1.2. Les acteurs de l’État en région ...................................................................................................................... 20 
2.1.3. Les plateformes : leurs actions par département ........................................................................................... 21 
2.1.4. L’action des entreprises : l’exemple d’un organisme paritaire collectionneur agréé (OPCA), l’AGEFOS-
PME ......................................................................................................................................................................... 26 

2.2. UNE COORDINATION REGIONALE A AMELIORER : QUEL PILOTAGE ?................................................................. 27 

3. MULTIPLICITE DES ENJEUX DE LA LUTTE CONTRE L’ILLETTRISME EN BOURGOGNE .......... 30 

3.1. LE PUBLIC ........................................................................................................................................................ 30 
3.1.1. Le problème du repérage ............................................................................................................................... 30 
3.1.2. La diversité des publics et de leurs motivations............................................................................................. 31 
3.1.3. L’illettrisme en entreprise : le rôle primordial de la formation..................................................................... 31 

3.2. DES DIFFCULTES PERSISTANTES....................................................................................................................... 33 
3.2.1. Le partenariat et la mutualisation, un travail de longue haleine................................................................... 33 
3.2.2. La complexité des financements..................................................................................................................... 33 
3.2.3. La place des bénévoles dans la lutte contre l’illettrisme ............................................................................... 34 

3.3. DES LEVIERS INDISPENSABLES A LA LUTTE CONTRE L’ILLETTRISME ................................................................ 35 
3.3.1. L’action culturelle.......................................................................................................................................... 35 
3.3.2. La communication et la sensibilisation pour lutter contre les représentations négatives.............................. 35 
3.3.3. La prévention ................................................................................................................................................. 36 

BIBLIOGRAPHIE ......................................................................................................................................................... 38 

�
�
�
�
�
�
�



�

� "�

-%7%-63%7%9�8�
.5@��%-8/99%8�.5�3�3/99%%8�

�
>
�
�� .9�>3%-%98�� ��A1

� 0
����0�	�� �B�
*�� �
� 

	�1���(� 
�1�
�
�

(� 
1� 0�
1
��
��1(�� ��

�1���� ���
(

���
���1����	��7���(1C

��
�	����+
�(
 �
�
.��
��.34�%��������1
�����-�%#��
�
9����
��%-�>.5���

(0��(��	
����0D	
�;��1��
(�
1�0
��
1(�?��=.E%#/8&�7%����
*�*�
�
�
�B�	�00
�6.8�.9%���(
�
�1��

�*���
�	������++��

(�
�*����	
( �
�
#
��F��(�6.52%G����(0
�1
�
��=.������
��
�	��6D1
&�=/
�
1���	�*���
�*����	��
�	=.*
��
���1����	
�
�
�	�11
����1

�	=�		
11
�(�
�H.9463I�
�
E�J	���
�6/8�.9�39/���B�
*�
��
���((�����		
11
�(�
��
�*�����
��
��
&.	0
(&6D1
��=.K�
�
�
8

*
�6/5�%-6�����
����1
�
&��1

�
���1�L�	=5���

(�1���
����
*�*�
�������1
�
�

(0��(��	
�.6�3&
4%6�H.�1����4�

�%�
�

�6��01

I�L�������
�
��(��	
�#.44/5-������
����1
��
��
�	��0	�1
+�
�
�45�34%.�H4�11
����1

�	=�		
11
�(�
��	=
��	�(����
1�
	=���	0B���1�(�
I����6

�(�1&7��1�
���
�
>

��� #%-9.9�%G�� (
�
�1��

� *���
�	� �
� 	=.*
��
� ��1����	
� �
� 	�11
� ���1

� 	=�		
11
�(�
� H.9463I��
�B�
*���
�	=�		
11
�(�
��
(�(�	�
��(�
�
7�
�
&�B�
C(
�E%##-/M����

�1
��
��
�	=.*
��
���1����	
��
�	�11
����1

�	=�		
11
�(�
�H.9463I�
�
.
�
		
�E34%�����

�1
��
����6%8.7�
�
7�
�
&4��

�E/-9M�����
����1
��
������(0�(�1�+�;���
1
&0	��
�?�L��
���
�
�
9
		J� >/4439E%-�� 
�00�
1
�
� �
� 	=���(� ��� 6%8-� �
� ����� (�
� 	=�		
11
�(�
�� ������	
� �=.��� <��
1&
7���
�
�
7�
�
		
� 4.7�%-��� �B�
*�
��=�1��
(� L� 	=3-%�5� H3�(1�1�1� �
� 

�B

�B
� (�
� 	=�����1���� (����	�*�
� 
1�
�������N�
��
�	=�����1���I�L�������
�
#
���O�4.5-%9����B�
*���
���((����
�*����	��		
11
�(�
���3�(0
�1�����������N�
��
�	��6D1
&�=/
�
�
�B�


J�4%5�-%.5�����
����1
�
��
�	��0	�1
+�
�
�.4%6�.�&�7�((����	���	
������J(�9��

���(�7�
����
L�6BP1
��&6B�����
�
.KK
���
�7=-.�����

�1
�
�
�*����	��
�	=.*
��
�0��
�	����B�(����(����	
�
1�	=�*�	�1���
(��B���
(�
�
������N�
��.9�.4���B
+��
�(

���
�0��	���
�*����	��
�+�
��1����0
�+
((����
		
����1���
�
�
.	�����%--/99%.5��0
�(��
�1����6�-�
�



�

� ��

#	�

��
��%--/���

(0��(��	
���0�
1
�
�1�	
��
(�0	�1
+�
�
(�0�
1�
(�0�
� 	=5�������0�
1
�
�1�	
�
�
(��((����1���(�+���	��	
(��
�	=M���
�
�
8�*�	C�
��-5�/9���B�
*�
��
(�

((��
�
(�B�����
(�L�3�=%%8����
�
Q
��&6B
�(1�0B
�-.4%7.���B�
*���
���((�����		
11
�(�
��
�*����6
�1

�
�
4���
��-.2/5@��������	
�L�	��0	�1
+�
�
�.6�3&4%6�
�
���
11
�->/��%��������	
�L�	��0	�1
+�
�
�.6�3&4%6�
�
E�J�8.�39����

�1
�
����6�-�
�
9�1B�	�
�8.M88%����B�
*�
��
���((�����		
11
�(�
��
�*����9�
�&��(&�
&6�	��(�
�
#
��F��(
� �%9%9�.57�� (
�
�1��

� *���
�	
�� 0
�(��
�1
� �
� 	=������ �
(� 66.8� �
� 6D1
� �=/
�� ���
&
0
�(��
�1
����66.8�
1�������1
����7��

��
������ �
�
�
�

�



�

� ��

6/773883/9�9:�"�

	
	

$�
������	%�&���	$������

0
�(
�1��1��
(�/
*���(�
(���	1�

	(�
�

'���()�
������	%	*�����	!�������

0
�(
�1��1��
�	��6��+���
�1����+
��F��(
��
�
(�1
����		
�
(��B
�1�
�(�H6#�6I�

	
 ���
�����	%	������	����  ������

(����	�1��N��	�+��
�

�
!��+���	%	

�
!��,�����-	�������

0
�(
�1��1
��
�	��6��+���
�1����+
��F��(
������
�1�N�
����1
����	�

H6#��I�
	

!������	������*��

0
�(
�1��1��
�	=5�����
�*����	
��
(��((����1���(��
�0�

�1(��
�
0

(���
(�B������0�
(��
�1�	
(�
1��
�	
�
(����(�H5-.�%3I�
1����6
�1

�
�*����	��=�1��
(�
1�

�=��1���(�(�
�	
(�B������0(�
1�	
(������01�1���(�H6-%.3I�
�

�������	���.��

0
�(
�1��1
��
�	��6��+���
�1������1����	
����	�*
�
�1�H694I�
�

*�����	�'���������

0
�(
�1��1��
(�.((����1���(���
�1�1��
(�
�

$�����	"��/��

0
�(
�1��1����0D	
��
����0�1�1���1��23�.E/-.�
1��
�	��#���
�1����
�*����	
�
�
(����0�
�1��
(��*
���	
(�H#-6.I�

	
!��0��	!�������

0
�(
�1��1��
�	��7�1��	�1��#
��F��(
��
����
*�*�
�

�
&���($�����	$�$����

0
�(
�1��1����6���1��
�*����	��	J�0�N�
�
1�(0�
1�+�H6-/8I�

�
&���	$�������

0
�(
�1��1��
�	=5�������1����	
��
�	��0
�0
��1��+�

(1�C

�H59�3I�

�
���+����	��� /����

0
�(
�1��1
��
�	��6��+���
�1����*���
�	
����1
����	�H6E�I�

	
����	���"�.���

(����	�1��N��	�+��
�

�
!��+���	������
�	%	

�
��1�	"���������

0
�(
�1��1��
�	=5�����
�*����	
��
(��((����1���(�+���	��	
(�H5-.#I�

�
��+����	

�
%	(���%�.-9/����B�
*�
��=�1��
(��((����
�����1
�������
�	�������((�����:"�
6B�
	�11
�E%-.-����B�
*�
��=�1��
(��((����
�����1
�������
�	�������((�����:"�
7�
�
&6	���
�4%/9.-����((�(1��1
�
�
�
�
�



�

� ��

438�%��%8�.�-%23.�3/98�

�� �	 .*
��
�0��
�	����B�(����(����	
�
1�	=�*�	�1���
(��B���
(�
����(���	 .�1����	�

���
�

����01

�
�2$�	 .((����1������1����	
�0��
�	��+�
��1����0
�+
((����
		
��
(����	1
(�
���	 .*
��
�	���	
�0��
�	=
�0	���
������	 .00

��

�L�	�

����
�

�����01

�L�1��1�P*
�
�����	 .*
��
���1����	
��
�	�11
����1

�	=�		
11
�(�
�
��$�	 .*
��
���1����	
�0��
�	=
�0	���
	 �
��	 6��1
�1��=��
��
�
���	 6��1
�1��=�����0�*�
�
�1����(�	=
�0	���
��� 	 6
�1

��������	��=��1����(����	
�
�� �!	 6����	�

�	=�������N�
�
1�	
�(����	�����

�������1�1���(�
�! 	 6
�1

�������&(����	�
��2$�	 6
�1

�9�1����	
��
�	��#���1�������	�N�
��


�1�
��	
�
�$��	 6��1
�1�0	���%1�1&-�*����
�3�	 6
�1

�
�*����	��
�

((��
�
(�0��
�	
�1
����	��	=
�0	���
1�	��+�
��1����
	 �
*"�2$	 ��	�*�1����*���
�	
�L�	=
�0	���
1�L�	��+�
��1����0
�+
((����
		
�
*�2	 �
��1���������
	�L�	��+�
��1����
*���2$	 ��

�1����
�*����	
����1
����	��
�	=
�0	���
1��
�	��+�
��1����
	 �
2��	 ;�#
��F��(�4��*�
�%1
��*C

�?�
2 �	 #���(�(����	�
�
�0�
��
	 �
"����	 E
��0
�
�1��=%1��	�((
�
�1�0��	��(�	�������=
�(
�*�
�
�1��
	 �
&�$*	 Q��
��
(��=�00
	�L�	��0
�0�
�1����L�	����+
�(
�
	 �
�� ��	 3�(1�1�1���1����	��
�	��(1�1�(1�N�
�
1��
(��1��
(��������N�
(��
���*�	 3�(1�1�1��
�

�B

�B
�(�
�	=�����1����
�'4	 3		
11
�(�
�
1���
�N��1���
��
�
	 �
�������	 4�11
����1

�	=�		
11
�(�
��	=
��	�(����
1�	=���	0B���1�(�
�
	 �
�2	 /
*���(�
��
�+�
��1����
�$��	 /
*���(�
(�0�
�1��

(���		
�1
�
(��*
��(�
	 �
�*�2	 5�������0�
1
�
�1�	
��
(��((����1���(�+���	��	
(�

�
�
�



�

� !�

39�-/�56�3/9�

��	 �����	 ������	 �������������	%	 ���	 )�
����)�����	 �
��������	 ��	 �������	 
������
��	 ��	
������	�
������	��	���������	
	
4=�		
11
�(�
� 
(1� ��+���� ����
� ;���� 
��������� ��� ��	
����
� ��� ���
� ��� #$� ��
� %���� ����� %� �&���� 
�
�

����	�

�
�������	�����������
�'�����	���	�������������	�����
�	���
�
��������
�����������%�����������
��(��������	�����������
�'�
�	�	�����	��	��
����	����
�����	������
�
�����
!����	���	�����
���	
����
��
��
����������

� ��� �����	����� 
�	���	���������� 
�� �������	�� '���
����	

�����	
�� ��������� ��
����
�����
��)�	�
��� ���	�
�����
�����
������
�������� ������������������	����� ��� 	��
��������� ����%���� ���
����	
*��
�������� �����
��������
�����	�
������
���
	�����
������	�
�����	��+	�
����
�� �
�����������
�
��� ����
�����!�,���	
� ��
��
�����
�� ��
���	
����
���� 
���������� ������	�
���������%��
���� �-���
	�������
���������	�����������������������
�����
�������
 ����&������
��������
�	�����������
�'���	�����'�
�	�	�!�
.�	�����
�����������
�� 
 ���
�	�	����
� �������
�����������	���

������������
� � 
%�����	���
�� �	��������� ���
	�
%��� ��� ��	������
������ ��	������!� / ���	�
� 
�� �	������� ���
� ��
� 
��������
� � �����
���� ���
� ������	�
���
�����0����������� ���	�
�������	
�" ����
	
�
0��(����0
��0	�(��
����*1���(��	��N�
(1�����
�	=�		
11
�(�
�
(1�0
�(
�
�����01
����(���1

�(����1�����
(
����
(�0�	�1�N�
(��������N�
(�
1�(����	
( �4
(�1
��(���1�&(��(��
(����6%8-��
����
*�*�
�
���$!����
�$$���
1��������11
(1
�1��
�	=��0�
1���
��
��
11
�0
��	���1�N�
 ��
!�������	 2���5���	 ���'�/6	 ���)������	 ������
���	 ��	 ��	 �7��(����	 ��	 �0���
	 ��	 �������	
�	�����������	#6	 ������
����	 ��	 ���8���	 ��	 �� �	 ��	 3993	 �����	 ���	 ����	 )�
������	 )���	 ��	
)�����
��	���
�	����	��	�������6	�	��������
	!�������	2���5���	$������6	$�
������	��	�������	
�
������	��	���������6	�:��	
��	��	�
����	��8���	��	�� �	;	����������	��	���8���<		
�
4=�1�	�(�1�����
� 	=��
�1�
(1���(�
���(��
�
��
���
���
�
�(����	
������0
�(
�1
��0�
1�*�
�0�
� 	
�0	�(�
*
��������

�����+��1���1���
�1��
�	=��	�*�1����(��	��

 �4
(���
�1(��00�
��((
�1������
�=B�������
�
(����	
�
�1���������N�
�
�1������N�
�
�1�����(0
�(��	
( ��
�
6
11
� 0
�(
� 
�� ���01
� (
� 1
����1� ��1���
�1� 0�
� 	=��1
����1���� �
� 	�� 0
��	���1�N�
� �
� 	=�		
11
�(�
�
���(�	��	����=�
�
�1�1�����
��$$!�N���	=�
�*
����
��*��
�0
��
�1����1����	
 ��
4=�
1��	
��"$�0
���(
�'�;��������	��	��
��
���	�
��������������	����
�	���������������� 
������������
��%���
��
� ��	
����
� �����%��
� ��� �	��
�
� �

�	���� ���� ��

���� ��� ��	������� ��� � ������� 
������!� 1��
� ��
�

�	����
�������
�����	��������������+	�����	����
��'���� ����������	�� � ������	�
������
����	
��������
�
� �������	�
������
�"!�
��

������������������������������������������������
��%���$!���;�4=�		
11
�(�
�
�����
*�*�
�?�0
�(
�1��0�
�E�J��%-�>.5��	
������1��

�'�	=���(������1
�����L�	����(
�
��0	��
�
�
����0	��(� 	�������
� 	�11
� ���1

� 	=�		
11
�(�
���=��
� 

�B

�B
���1����L� 	=5���

(�1���
����
*�*�
�
1��=��
����
����1����

�*����	
������(0�(�1�+�����N�
�
��#
���
�L�	=�0�N�
�����(�	
����

����6�%-��$!$&�$$� �
�� %�� �$$��� ;�4=�		
11
�(�
� 
�� ���
*�*�
�?� 0
�(
�1�� 0�
� Q
��� 4%#%�2-%� 	
� �!� ����'� 	=���(� �� +��1� 	
� 0���1� (�
� �
11
�
0
��	���1�N�
� 
���


�1
� 
�� �
11��1� 
�� 	���C

� 	=��0�
1���
� �
� 	�� 0
��
�1����� 	�� ��	�
�(�1���� �
(� ���1��1��
(� 	���	
(�� 	��
(
�(���	�(�1�����
(��	�(�
1��
(�
�1

0
�(
( �
�� %�� ������ ;�4=�		
11
�(�
� 
�� ���
*�*�
�?� 0
�(
�1�� 0�
� 9
		J� >/4439E%-�	
� ��� ��
�	� '� �
1� ���(�� �
�
��� 	
� �����
�1� �
�

�+�

��
��
�	��	�11
����1

�	=�		
11
�(�
�
��-�*�������
*�*�
��(=
(1�+��1�+�
�
��
�0
�0�(�1���(���1��
��
�����
(�'��
� &�	��0
��
�1�����
�	=��B
��(��	��

��
� &�	=��0�
1���
��
�	=�*�	�1��1


�1�
��	
����(�	��	�11
����1

�	=�		
11
�(�
��
� &�	=���	��
�1�������

0�
�*
�
1��
�	=�
�
�1�1�����
� &�	������	�(�1�����
(��00

���1(��
� &�	=�
*���(�1����
1�	=���	��
�1�����
(��++

(��
�

�����1�����
� &�	�����
����1�����
(���1���(�
1�	��+���
�1�����
(���

*�
(��
� &�	=��0�
1���
��
�	��	�11
����1

�	=�		
11
�(�
�
����

�1�������0��	����
(�0

(���
(�P*�
( ��
�



�

� $�

4
�	��

�3@����6��
����1
����	���	�����((���1������+���
�����(�N�
��
�'�;��������������	��� ������	�
��������
��	���� ��� � 
��������� ��	�������!� 2 3����� ��
� �����������

� ��		���	����
�� ��
� 
�����

�����
� ������
�� ��
�

�����

�����
� � ��
���������� ������
� ��� �	��

�� ��
� �

��������
�� ��
� �	����
�����
� �	���

��������
��

&�������
���� ���������
�����
��%��� ��
����	��	�
�
� &�������	�����*��������	� ���	���	�!�2�
�������
����
����������	��� ������	�
���
������
�������
������	������!�2�
���4�
������
�������
�
�������������
�������	��
���� ����������������	����������������������������������	��������	���

���������" �
�
��
����(�N�
�1���
(���1���(�
��+��
�
��
�	=�00

�1�((�*
�����
�	=���C(�L�	=��
�1�(��1���(
(�
��0	��
����
(
��� �
(� 0�	�1�N�
(� �
� +�
��1���� 0��
� 	
(� �
��
(� 
1� 	
(� ���	1
( � 7��(� ��&�
	L� �
� 	�� ��A1
�(
� �
� 	��
	
�1�

�
1��
�	=��
�1�

���=
(1���
��	=��(

1����(����	
�
1�0
�+
((����
		
�N���
(1�0
���
���	
����(�	=
(0
�1�
�
(�0�����
(�0��	��( �
�

4=��1�&(��(��
��
��������+��
������
��B
�1
����	�(����1�N�
�N�=�	��
�(

��0�(����
((��

��
�

+�
��	

 �
3	� 0
�1� R1

� ����+�N�
� �
0
����1� �
� 
�00
	

� 	�� ��+���1���� �
� 	=�		
11
�(�
� �����
� 0�
� 	=.*
��
�
��1����	
��
�	�11
����1

�	=�		
11
�(�
�H.9463I ��
�

%��#
���
�������	=B���1��
��
���(1��*�

�	=�		
11
�(�
��
�	=���	0B���1�(�
����+��������
�	��(�1��1�����
�
0

(���
(�N����=��1� �����(�
�� 	=����(�����=�00

��

����������
���
�1����(������
� 	��*�
�N�
��
�
(��1 � 4=�		
11
�(�
� (
� ��++�

���
� �*�	
�
�1� �
� 	�� (�1��1���� �
(� 0

(���
(� N���� ��
�� N�=�	0B���1�(�
(�
���(�	
�
�0�J(��=�
�*��
���
���A1
�(
�1�0�(�	��	��*�
�+
��F��(
 �6
(�0

(���
(�(��1���

�1
�
�1���(�
(�
0�
�	��+�
��1�������#
��F��(�	��*�
��1
��*C

�H#4%I ��
�

%�+���� �	� �����
�1� �
� 0
���(

� N�
� (�� �
(� 0

(���
(� (��++
��1� �
� ��+���
��
� ��1
		
�1�
		
� (��1� 0	�(�

�0�(�
(� ��� 
�(N�
� �
� 	=�		
11
�(�
�� �	� ��0�
1
� �
� ��((���

� �		
11
�(�
� 
1� B������0 � 4�� 0	�0�
1� �
(�
0

(���
(�
��(�1��1�����=�		
11
�(�
���1���
� ��1
		�*
��
���
��	
 �6
��=
(1�0�(���
�0�1B�	�*�
���=
(1�
��
�(�1��1����L�	�N�
		
��	�
(1�0�((��	
��
�

����

 ���
�

�8�������	��	�����=��	��������	��)���	3993	
	

7�	*
�� 	
(��B��*
�
�1(�0�	�1�N�
(�(�
�
��(�� �	�
��(1
����(� 	
�������
��
� 	�� 	�11
����1

� 	=�		
11
�(�
�
��
���	��1���
����1����1� ��
%�� ���		
1� ������ 	
� �

��

� ����(1

� ��(�*�
� �
		
&���� 
1� 0	�(� 	�
*
�
�1� 	�� ��A1
�(
� �
� 	�� 	��*�
�
+
��F��(
������
����;���0�������

����������� ������������	����������? ��
6
11
�0
��
�1��
(1�
��++�
��
�0�
�	
��
�(��
�1��
�	��-�0��	�N�
�	
��"����		
1�������
1���1�*
�
����(�	
(�
1
�1
(��
�	���0�
1��1�(�
�	��+�
��1����1��1����	��*��
�	����
 �
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� ���

�

<�
	N�
(���1
(��	�(��
�	��	�11
����1

�	=�		
11
�(�
�
��#
���
��
0��(������
�

��))��	%	 ���	 ��	 3>	 ?������	
@>>A	 ������8�	 ;	 ��	 �����	
������	���	�=��������	

4��	�11
����1

�	=�		
11
�(�
��
��
�1�0
��
�1����1����	
���
����(�
�01�������
6��
����1
����	 �
�

��))��	%	 ��
�����	 ��	
3999	 ��	 ��������	
���������	 ��	 �����	 ������	
�������������		

4=.9463���0��
���1��
�+���


�
1��=�01���(

�	
(���J
�(��
�	=%1�1���
(�
��		
�1���1�(� 1


�1�
��	
(�� �
(� 
�1

0
�(
(� 
1� �
� 	�� (����1�� ����	
� 0��
�
0
��
��
� 
1� 
�(�
�

� 	=�		
11
�(�
�� �=����

� 
1� ���
����

� (�� ��(
� 
��
S��

 ��

�
�������	 ��	 3993	 ����	
�����	 ��������	 ��	
�
:
�����	��	 �����	 ������	
�������������	)��	�������	

/�1�	�(1
��1�
��1�����

1�
1�+���
�1
�
����F��0��
�����

����������
�
(�

1� 0
�1���
�(� ��
� ��(���� (J��01�N�
� �
(� ���0�(��1
(� 
((
�1�
		
(� �
�
	�11
� ���1

� 	=�		
11
�(�
�� �	� 0
�(
�1
� 	
(� 0
����0
(� ��

�1
�
(� 
1� 	
(�
�B��0(� �=��1

�
�1����� �	� �����
� �
(� 

��������1���(� 0��
� +���	�1

�
	=��1���� �
(� 0�����
(� 0��	��(�� �
(� 
�1

0
�(
(� ���(�� N�
� �
� 	�� (����1��
����	
 �

��
�B���	 �	��:��������	
��	 '��	 4����������	#	
C�<'<4<D	�
����
��	��	3993	
��	 �������	 ��	 399E(399F	
)��	�������	��	���� ��	

%		
(���1�0

��(���
��
�		
�

��
(�

��
�	=�		
11
�(�
�
1����(��	
�1����
�

1���� ����

� �
���(� 

0
�(
�1�1���(� (�
� 	
(� 0

(���
(� 
�� (�1��1����
�=�		
11
�(�
�'���1���
�1��
		
(����(���(
�1�N�
����T��
(�0

(���
(�
��
(�1��1�����=�		
11
�(�
�(��1����(�	=
�0	���
1�N�
����T�(��1�����BD��*
 ��

���	 ��	 F	 ���	 399E	
������8�	 ;	 ��	 :��������	
)��:�����������	 ����	 ��	
����	��	��	8��	

6
��1��������
��1� ��������
	�L� 	�� +�
��1���� H�3#I�
1���(
�
��0	��
��
�
0�
���
(��
�0
�+
((�����	�(�1��� ��
6
(��
�������
������(0�(�1�+(�0
��
�1��
�
��
��
(� 	
��

(� (�*��+���1�+(��
0�
1�(� 0�
� ��� ����
	� �
1��	
� $�"&�� ��� 6��
� ��� 1
����	� N��� ����1
� 	
(�
�
���B
(�0
�+
((����
		
(�L�0
����
��
(���1���(��
� +�
��1�������0
�+�1�
�
(�(�	�
��(�N����
���A1
�(
�1�0�(�	
(����0�1
��
(��
���(
 �

���	��	@A	?��8���	399F	��	
)������������	 )���	 ��	
��0
����	�������	

.��1
��

(��
�����
������(0�(�1�+("�(��1�

�+�
��(�	
(�
�*�*
�
�1(��
�
	=
�0	�J
�
�
����1�C

��
�+�
��1�����
�(�	�
��(���(�(�0�
��
(����1
�1( �

���	 ��	 ����	 399G	 )���	
��
�����
	 ���	 �0�����	 ��	
��	 ��
�����	 ��	 ��������	
)���	 ��	 ��0
����	 �������	
��	��
�����
	C�� �D	

4=.68%�
(1�����
��
��
*���(�
��((���
�	��	���(�
�	=�*�	�1���
(��B���
(�
��������
(������N���(
�(��(1�1�
����#.834����
���	���
���$�!�0�
�	
�
E���
�	��
�E��		
 �
4=.68%� 

0

��� 
1� �1
��� 	����((�������#.834��
�� ���1
�����1� L� �
(�
��1���(�
��+��
�
��
�0

(���
(�
����++���	1���=��(

1����0
�+
((����
		
�

1� (����	
� 
1� ������
1� L� 	�� 	�11
� ���1

� 	
(� ��(�
�����1���(�� L�
	=��1�*
�1�����
(�0�0�	�1���(�����*
�
(�
1�L�	��	�11
����1

�	=�		
11
�(�
 �

����������	 *"�2$	 �H	
399AI9@	 ��	 J	 ?��8���	
399A	 ������8�	 ;	 ��	
)�����
��	 �������8������	
��	 ������K��	 �0���
	 ��	
����)���	 ��	 :�8���	 ��	
�����K�	 ��=	 ���)
������	
��
�	 ���	 )��������	 ��	
���������	)��:�����������<	

6
11
���
��	��

���0��
����
1��
���+���
� 	
(��
�
�1�1���(�*���
�	
(��
�	��
0�	�1�N�
� �������(1C

� �
� 	=%������
�� �
(� #�����
(� 
1� �
� 	=%�0	��� 
��
+��
�
� �
� 	=���C(� ���� ���0�1
��
(� �	�(� 0��
� ��
� ��(

1���� ��
��	
�
���(�	=
�0	�� ��
4
(����0�1
��
(��	�(�(��1����(����+���
(�'����������1����
��+
��F��(��
��	1�

� ��1B���1�N�
� 
1� ���0�1
��
(� �
� ��(
� 
�� (��
��
(� 
1�
1
�B��	�*�
(�� ��	1�

� ����
�N�
�� �00

��

� L� �00

��

��
���������1����
��	��*�
��1
��*C

 �
4
� *	�((
�
�1� �
� 	�� ��1���� �
� (����
(� �
� ��(
� �

(� �
		
� �
�
���0�1
��
(��	�(��=
(1�0�(�N�
�(����1�N�
�'� 	�������((�������1
�1

�
�=
�����	�

�	
(����(�N�
��
( �

������������������������������������������������
"�6��1
�1��=�����0�*�
�
�1����(�	=
�0	���H6.%I�
1����1
�1(��=��
��
�H6.I�N�������+���
�1�0
��
�1��

�
�1�����
�
����
�
(��=
�0	���	��*�
���
�
�����		���1��

(��
��������
������ ��



�

� ���

@< �'�������	*�	�����L��	��"�����		
*�$�� 	3993	

4��0�	�1�N�
��
�	�11
����1

�	=�		
11
�(�
�
��#
���
�1
���L�����	�(

�
1���0	�N�

���++�

�1(�����(1C

(�
1�
0�
1
���

(� 0��	��( � 6
� (��1� �
(� 0�
1
��
��1(� N��� 0

�
11
�1� ��� ���
��� ��1����	� ����
� ��� ���
���

�*����	� �=
�*�*

� �
(� 0
��
1( � %�� -�*���� ���
*�*�
�� 	�� 	�11
� ���1

� 	=�		
11
�(�
� +��1� 	=���
1� �=��
�
�
*���(�1����N���(
�(1
��1�

����1���
�1�0�
�	
�����(��
�	�����(1
��1�����=����	����=��1����
�*����	 ��
�

� �  4.�738%�%9��4.6%��%�4.�73883/9�-%E3/9.4%��%�45��%�6/9�-%�
4=344%��-387%��%�4=.9463�

� � �  %	��
�1(��
����
�*
���1�������

@<@<@<@< 2 562.7�

4=.9463� 
(1� ��� *
��0
�
�1� �=��1�
R1� 0��	��� L� ����1���� ��1����	
� 

0
�(
�1��1� ��� 
(0��
� �
�
����

1�1����
1��
�1
����	��U��
���N����*�((
�1�������
��� ��(1�1�1����
	�
1�(�
� 	
� 1


����(
�

1
���
�1�
0��
�+��

�0
�*

((

�	��	�11
����1

�	=�		
11
�(�
 �8
(���J
�(��
�+���1����
�
�1�	���(��1��		���(�0�
�	
(�
��(1�1�1���(��
��

(�������(
�	��=������(1
�1��� �6
��

��

�(
����0�(
��
�����(1C

(�
1��
*���(�
(�
0��	��(� H.9�%�� .#�.VI�� �
� ��		
�1���1�(� 1


�1�
��	
(�� �=�
*���(�
(� 0�
�1��

(� ��		
�1
�
(� �*
��(�
H.*
+�+�
����#�+��
�0

1��
1�.*
+�(&�7%�I�
1��=��
�
�1

0
�(
�H8���+�&8J�1B�	���I ��
�
 ��	��������	)�����)����	%	
	

&�
		
���1

���
�	
(�0
��
�1�(��
�	��	�11
����1

�	=�		
11
�(�
��
��+���1�����
(��
�
�1�1���(�+���
(�0�
�
	
�E���

�
�
�1�W�
&�
		
�����
�
1����
����
�	=��1��������

1�
��
�(
(��
��

(�W�
&� 
		
� �
�		
� L� �
� N�
� 	
(� N�
(1���(� 

	�1��
(� L� 	=�		
11
�(�
� (��
�1� 0
�(
(� 
�� ���01
� ���(� 	
(�
0
�*
���
(��=��1����
1��
�

�B

�B
��
�(
(��
��

(�W�
&�
		
�+��1�0
����

�L�	=���	��1�����
(�0�	�1�N�
(��
��
( �

�
 ��	�+?����:�	%	
	
4=.9463� 

0�(
� (�
� ��
� 	�*�N�
��
�����	�(�1���� 
1� �
� ��	�
�(�1�����
(���J
�(�
1� �
(� ��1
�
( � 8���
���
�1�+� �=
(1� 0�(� �
� 

�
�

� �
(� ��J
�(� ���(� �
� 

�
�(

� 	
(� ��J
�(� 
��(1��1(� 
1� �
� �
�

� 	
(�
�����1���(��
�	����(
�
��(J�

*�
��
(���1���(��
(�0�����
(�0��	��(�
1���1

(���1
�
(��
�	��	�11
����1

�
	=�		
11
�(�
 �8�����1����(
�(�1�
������������
����
�	����(
�
��
�(
����=���1��1��
(�
��(1��1
( ���
�

@<@<@<3< 2��.��	��������������	
�
	�����

4=.9463����	���
���L� 	=�((�
��=��
� 	�
*
����(�	1�1����� 	
�0

��

�0	����=��1������1����	�����

1��
��
��
(����� �8
(�N��1

�*
���
(��
�
�1�1���(�(��1�'�;�������������	����
���	�	� ��
��	�
������
����	����	�
��� 
�����	�? � 4
� 6��

� ��1����	� �
� 
�+�

��
�� �� �1�� ���F�� L� 	=����(���� �
� 	�� 
��	�(�1���� ��� 0	���
��1����	�����&���� �

������������������������������������������������
��.E%#.#/-3.�'�/
*���(�
���
�1��

�6�		
�1
�
�.*
���H/�6.I��
(�
�1

0
�(
(��
�	=����(1
�
��*
��	��
�1��

 �
#.#��
�0

1��'�/�6.�*
(1������

��
(�+���(��
�	��+�
��1�����
(�
�1

0
�(
(��
��
�0

1��
1�8

���
(�.((����( �
.E%#/8��7%�'�+�����
�
�
1����(
�	�0��
�	
(�+�
��1����0
�+
((����
		
��
(��7%�
1��
�	
�
(�(�	�
��( �
��4
�6��

���1����	��
�
�+�

��
�
(1�1�	��B�
*
��	
�(�
�	
�(�1
��
�	=.9463�'�,,, ��	�� +
��



�

� ���

3	�+���
�	
(���(
(��=��
�0

��C

���(����0�
1�*�
��
�	��	�11
����1

�	=�		
11
�(�
 �3	���+���1�	
(�0
����0
(�
��

�1
�
(��
� 	�� 	�11
����1

� 	=�		
11
�(�
��0
�(
�1
� 	
(���++�

�1(��B��0(��=��1

�
�1����
1�0
�0�(
����

�(
��	
��
�

��������1���( ��
4��	�11
����1

�	=�		
11
�(�
�J�
(1���+���
�1��1��=���
������
���
���1��������

1�
��
(�0�����
(�0��	��(�
��1������� 
1� 1


�1�
������ �
(� 
�1

0
�(
(�� �
� 	�� (����1�� ����	
�� ��� 

*�
�� �
� 	�� *
���
� ���

(�1�� �
(�
0��	��(�
1��
(����
(��=��1

�
�1��� ��
�
%		
�
(1��*�	
�
�1����
�1
�����
���
�����
�B
� 1��
��
��

(� 	=���C(��
� 1��(��������0�1
��
(��
�
��(
�� 
1� �
� L� 1��(� 	
(� P*
(� �
� 	�� ��
�'� �
� 	�� ������

1
� �
(� 	��

(� ��
��1� 	�� 0
1�1
� 
�+���
� L�
	=�00

�1�((�*
��
�	��	
�1�

�
1�L�	��0
�*

((����
�*�	�C

�1��1����	��*��
�	��(��	�
�1����	�*�1��

��
1��
�
	�11
����1

�	
(���++���	1�(���
��	=��
�1��B
K�	
(��
��
(��
�0	�(��
������(�
1� 	
(����	1
(�0
����1�	����
�
��1��
����
��00

�1�((�*
��
�	��	
�1�

����(
��	����"C�
�P*
 ��
.��(��� 	=.9463� 0
�����(
�� 0��
���
�0�	�1�N�
��
� 	�11
� ���1

� 	=�		
11
�(�
� 1��1� ��� 	��*��
� 	�� ��
�� ��
�
��1���� 0

���
�1
� 
1� (��1
��
� �
���1� ;���	����	�� '� ����� ����&��� � ��%�
	�	�� ��� �
�������	� ��� ���
��������	�
���������
�'���	�����'�
�	�	��? ��
�
5�
��
(��
�
�1�1���(��++��B�
(�0�
�	=.9463����(��
�6��

��
�
�+�

��
�
(1� 	�����	����(���1


�1�
��	
�
�
� 	�� 0�	�1�N�
� �
� 	�11
� ���1

� 	=�		
11
�(�
� 0�
� 	�� ��(
� 
�� 0	��
� �
� 0	��(� �=��1���� ����

1�
� ���(�
�B�N�
�-�*��� �%		
�
(1���(�
�1
����(�	
��	�����1����	��
�

�+�
�
�
�1��
�	��	�11
����1

�	��0
���
�1��
1�
	=
��	�(�����0
�(
�1��0�
�	
�E���

�
�
�1�
����
(����������(�	
N�
	�+�*�

���
��
(�

��
���(
�
��
0	��
� �
� �	��(� 
�*������� ���1

� 	=�		
11
�(�
� L� �
(1���1���� �
(� ���	1
( � ���1
+��(�� 	=.9463� �	�
*�1� 	
�
�B��0� �
� �
(� �	��(� 
�*������� L� 	=
�(
��	
� �
(� ��1���(� �
� 	�11
� ���1

� 	=�		
11
�(�
� �
0��(� 	��
0
��
�1������(N�=������1���(�
����

�1�����
(��
��
(��
�0	�(��
������(�
1��
(����	1
( ��
�
4=.9463� ��+���1� 	
� �	��� 
�*����	� ����
� ��� 	
��

� 0��
� ���
	�00

� 	=��1���� 0��	�N�
�� ��(�� (�
� ���
1
����	��
�����

1�1����
1� +�����(�
� 	�����1
��1��	�(�1�����
(����
�1�+( � 3	����1�0�
����(�N�
�1�����

�
�
� 	�� ��B�

��
� ���� ���

(
(� ���1��1��
(� 
�� ��1�C

� �
� 	�11
� ���1

� 	=�		
11
�(�
� 
1� 1
����

� 	
(�

�*�*
�
�1(�0
�(�0�
��B�N�
�(

���
��
� 	=%1�1�
1��
(���		
�1���1�(� 1


�1�
��	
(����(� 	
����

��
� 	
�
(�
0
�0

(�

(0��(���	�1�( �3	����1
���
��*�	
�
�1�L�

��

�	�(��	
�	�����1
���1�����
��B�����L�	��0�	�1�N�
�
�
�	�11
����1

�	=�		
11
�(�
 ���
�
4����(�*��1�����
(��B�
*�(��
���((����
�*�������+��1�(��1
�L�	����
��	��

�����

��

�����(1

�������
�����������
������1�����0
�+
1(��
�-�*����N�=��
�0

(���
�0	���
�(��(�	
�
���1�
�1��(��1��B�
*�
�
�
�0
�������
�
1��
����
����

�	��0�	�1�N�
��
�	�11
����1

�	=�		
11
�(�
 �
6
(��B�
*�(��
���((����(��1�	
(�

	��(�1


�1�
�����
1��0�
�1����
	(��
�	=.9463 �4
�
�
D	
�
(1��=�((�


�
	����(
�
��S��

�������
���
�*����	��
1�0��
�	=
�(
��	
��
(�����(1C

(���
(�0
��
�1�(��
�	=.*
��
��
��
���
������1� 	=��1

�
�1���� �
(� ��++�

�1(� ��1
�
(� (�
� 	
� 1


�1��

� H(

���
(� ������
�1
�(� �
� 	=%1�1��
��		
�1���1�(�1


�1�
��	
(��
�1

0
�(
(���((����1���(���
�1

(�

((��
�
(���
*���(�
(��
�+�
��1���VI ��
6
11
� ��((���� 0

�
1� �*�	
�
�1� �=�	��
�1

� 	
(� �
�
�1�1���(� ��1����	
(� ��� 

*�
�� �
(� 
��	�1�(�

�*����	
( ��
��

� � �  �
(�����1(��B��1�N�
(�
�����
*�*�
�

4�� 	�11
� ���1

� 	=�		
11
�(�
� �� 1�����
(� �1�� �++�
��
� ���(� 	
(� ��++�

�1(� 6�%-� (�*��(� 
�� ���
*�*�
��
1����*���1����(���
�	����	��1���=��
���1�������
�����
 ��
�
6
0
����1��	����(
�
��0	��
��
�	����((����
�*����	
��
�	�11
����1

�	=�		
11
�(�
����1�������0�
1��((
K�
�����(�
 �
.��0
��1
�0(�������.	����.5E%-�H�-�%#�I�
(1������
��B�
*�
��
���((����
�*����	
��
�	=.9463 �
%		
�����0
��
�0�(1
���(N�=
�������

����" �%		
�
(1�

�0	���
�
����1��

����"�0�
�>������-/>73�
H%����1���� ��1����	
I� ��(N�=
�� ���
��

� �
� 	�� �R�
� ����
 � Q
��&��



� 652%43%-� H%����1����
��1����	
I�	���(�����

��
�������

����� �



�

� ���

%�1

&1
�0(��	����((����
�*����	
���
�*��
		
�
�1�
�11��B�
�L�	���
�+
�1�

��
�-�*�����
�����
*�*�
�
����
� ���(� 	�� ����
�1�� �
(� 
�*���(�� 
(1� ���+��
� L� 	=%����1���� ��1����	
� 
�� ���"� 0�
� 	
� ����(� �
�
	=3�(0
�1���� �=.������
 � ���(� ��� 0

��

� 1
�0(�� 
1� �
� 0
����1� ��� ���� 	�� ��((���� 
(1� �((���
� L�
	=3�(0
�1
�
��=�������
��
� 	��9�C�

�
1� (=�11��B
�0	�(�0�
1���	�C

�
�1�L� 	=�(0
�1�0
��
�1�+�� �=
(1&L&
��

������
��
(��
�����(��
������( �4=3�(0
�1
�
��	���


����
�0

��C

������B
��
��	���
�*����	 ��
�
�
0��(���1��

�������
1��
���(N�=L�(
01
��

����!���=
(1�#
��F��(�6.52%G��3�(0
�1
�
��=�������
�

��6D1
&�=/
��N������((�
�� �
11
���((��� �%�� (
01
��

������� �	� �� (�		���1�� 	����(
�L���(0�(�1�����
�
#
���O�4.5-%9���0
�+
((
�
��
(����	
(�� (�
����0�(1
��
���	�*��� 
�*����	 �6
�0�(1
�L�0

��(�L� 	��
���
*�*�
� �=�((�(1

� L� 1��1
(� 	
(� 

����1

(� ��1����	
(�� ��		�N�
(�� ����
�
�1(� 
�� 	�
�� ��
��
	=�		
11
�(�
 � 5�� ���*
1� �
� +���1����
�
�1� 
(1� �11
����� L� 	�� ��((���� �		
11
�(�
� 0�
� 	=X����1����
��1����	
 �
�
-�11��B�
����0D	
������1����� 	����((���� �		
11
�(�
��
�(=��1�

((
�0�(����N�
�
�1�L� 	��0
��
�1����L�
	=P*
�(��	��

 �8�����1����(=��

((
�L�1��(�	
(�0��	��(�'�
�

&�	
(�1��1&0
1�1(��	
(�
�+��1(��	
(����	
(�
�1(�
1�	
�
(�+���		
(�W�
&�	
(����	1
(�W�
&�	
(��
��
(��
�0	�(��
������(�W�
&�	
(�0

(���
(�P*�
( �

�
� � �  4
��	���
�*����	��
�	�11
����1

�	=�		
11
�(�
�H�-463I�

4�� 	�11
� ���1

� 	=�		
11
�(�
� 
��*
� ��
� ����
�B
� 1
��(�

(�	
 � %		
� (=��(�
�1� ���(� 	
(� 0�	�1�N�
(�
�����1��
(�� 	��*��(1�N�
(�� ��	1�

		
(� 
1� (����	
(�� ���(� 	
(� 0�	�1�N�
(� �=���C(� L� 	=
�0	��� 
1� �
�
0
�+
((�����	�(�1��� ��
���(� 	
(� 0�����
(� 0��	��(� ����
�1� R1

� ����1�(� L� (
� N�
(1����

� (�
� �
� N���� ���(� 	
�
� (
�1
�
�
�=��1

�
�1����� 0
�1� 

	
�

� �
� �
11
� 0
��	���1�N�
� �+��� �=
�� +��

� ��� ��
� �
� 	
�
� 0�	�1�N�
� 
1� �
�
����	�(

�	
�
(�(

���
(���1��
��
��
1����
�1�+ �
4
�����
��������N�
��	��(����1������	
�����
�1�R1

���0	�N��(����(�	
(���1���(���(
(�
��S��

 �
�
-�00
	��
(�"�0
��
�1�(�����	���
�*����	��
����
*�*�
�'�
�
&���
�1�+�

�	
(�(�1��1���(��=�		
11
�(�
�
1�	
(��
(���(��=��1

�
�1����H���*��(1��I�W�
&�+���
�(

�	=���C(��
�1��(�L�	=��
�1��L�1��(�	
(�P*
(��
�	����
�W�
&��01���(

�	
(�0�
���
(��
�

�����1����H+�
��1���I�W�
&��
*���(

�	
�0�	�1�*
�
�*����	 �
�
4
� �	��� 
�*����	� �� �1�� (�*��� 
�� +��
�

� ����� 0�
� 	
� �
�+
1�� 	
� -
�1
�
� 
1� 	�� ��

�1
��
� �
� 	=.*
��
�
��1����	
��
� 	�11
����1

�	=�		
11
�(�
 �#
��F��(�6.52%G����
1�N�=�	����N�
�L��
��	���
�*����	���
�
���
�(���� �0�
�1����
		
 � �
(� +��B
(� ��1���(� ��
��
�1� �Y� R1

� 
��	�(�
(� 
�� ����

1�1���� ��
�� 	
(�
���(
�	(� *���
����� 	
� 6��(
�	� 
�*����	�� 	
� 6%8-�� 
1� 	
(� �
*���(�
(� ����

��( � 6
� 1
����	� ��
�� 	
(�
��1
�
(��
�1


����
(1�
�����
(���1�
		
�
�1 �
�

��	:���	�����	
��	��	�������	�
������	��	���������	���	)��	����
	�����	�0����6	���	���8����	��	������	
��	���,���	)��	��������
<	
�



�

� �"�

� �  4%8�.2.96%%8�

� � �  5�
��
�		
�

�������((���
�N���1�1�1��
�
1�N��	�1�1��
��
(�
0��	��(�

���
����(1
��

�
1��
11

�
��S��

���
�0�	�1�N�
�0��	�N�
���	�+��1���(0�(

��=�	��
�1(��
����*��(1���
1�
�=���	��1��� � 4=�		
11
�(�
�� ;��*
���+��� �	��
���	��� ��� ���������?�� ����
� 	
� (��	�*�
� 	
� 6��

�
��1����	��
�
�+�

��
��
�0
�1�(=�00
���

�N�=
��	���1��
(��00
��B
(�N��	�1�1��
(�
1�N���1�1�1��
( ��
.+��� �
� ������


� 
1� ��
��1�
�(

� 	
(� 0

(���
(� 
�� (�1��1���� �=�		
11
�(�
�� �
��� 
�N�R1
(� ���1� 	��
0�
������1��0

�
1��
�(��(�
�	=���	�1�������0B����C�
�(��1���1�
		
�
�1���(0����	
(�'�
�

� ��4���
(�

�
++
�1��
���0
C(��
(��
��
(��
������(�	�
(��
�	��Q��
��
��=�00
	��
�0
�0�
�1����
L�	����+
�(
�HQ.��I �
�

4
(��B�++

(��
�	��Q.�����

���

�1��
����
�	=
�N�R1
���1����	
 �8��	=�����(

�
�	
(�
�(�	1�1(��
�1(��
(�
1
(1(��
�	
�1�

�
1��=��
�1�

�
++
�1��(�	�
(��
(����
��
(��=�00
	�L�	��0
�0�
�1����L�	����+
�(
�HQ.��I�

�����������T��
(� �
��
(����
*��*���(�
�1

����
1������(�(

��
�1�
����++���	1���
� 	
�1�

���
�N���
��0�((
�	����J
��
���1����	
��
���0���1(�H���TI �%�����	J(��1�0	�(�+��
�
�1��
(�
�(�	1�1(���	��00�
�A1�
N�
�	
���J���
�
	��
(��
��
(�1���B�(�0�
���
�(�1��1�����=�		
11
�(�
�(
�(�1�

��1�0	�1D1������	
�1��
(��
�
��L���T���
�1�����
�
�

�(�0�
�
�
�L�	��0	�0�
1��
(���1

(�
�*���(�+
��F��(
(�H"���TI ��
�

���
�
�1�*
��
��
��
(�

F�(�L�	��Q.���
��(�1��1�����=�		
11
�(�
��
%�����
*�*�
� %��#
���
�

����� "��� "���
����� ���� "�!�
�
6
11
� (�1��1���� 
�� ���
*�*�
� 
(1� 0�
�����	
 � %�� 
++
1�� 	
� 1���� �
� 
��((�1
� ���� 
���
�(� ��� �J�	
�
(
������

�
(1�(�0�
�
�
�L�	����J
��
���1����	
 �
�
� ��4=
�N�R1
�;�3�+�
��1����
1���
�N��1���
��
�?�H32<I�0�	�1�
�0�
�	=398%%��
���((����1������
��
	
(� 0
����0���� (

���
(� (1�1�(1�N�
(� ����(1�
�
	(� 
1� ��(1�1�1(� �
� 

�B

�B
� 0��	��( � 6
11
� ���
(1�*�1����
�
��
�0��
� 	��0

��C

�+��(�
�������
1�(�
1��1�
�����"&��������(��	
�����

1��������

��
���(�


0
�(
�1�1���(�(�
�	
(�0

(���
(�
��(�1��1�����=�		
11
�(�
 �
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� ���

9�1���
�1��
		
(����(�
��C	
�1�N�
��������
�����1����	�'�
�
�

&����T��
(�0

(���
(�
��(�1��1�����=�		
11
�(�
���1����	=
�0	���
1����T�(��1�����BD��*
��
�
�

�
7�����	�
���8���
��*���	�
�9�3��������������	�� 562.7����� ��%�����7���	��������������%������������7:;��

�������������<==>�<==?���	�� 76@33�
�
�
�
�

&� %���
��� "$� T� �
(� 0

(���
(� 
�� (�1��1���� �=�		
11
�(�
� ���
�1� 
�� K��
� 
�
�	
� ��� ���(� �
(� ��		
(� �
�
����(��
��������B���1��1(�
�

�
7�����	�
���8���
��*���	�
�9�3��������������	�� 562.7����� ��%�����7���	��������������%������������7:;��

�������������<==>�<==?���	�� 76@33�
�
�
��	 �
�������������	 ��	 �����	 ��
�B��	 :�����������	 ��	 ���0���0�	 ��	 ���������	 ���)�
��	 ;	 �0�
��	
����������<	
�



�

� ���

4=�00
��B
� N��	�1�1��
� (=�00��
� (�
� 	
� 1�((�� �
(� �
*���(�
(� �
� +�
��1����� �
(� �((����1���(� 
1� �
(�
�
�1

(�

((��
�
(��		
11
�(�
 �6
�(��1��
(���1
�
(�N���0
��
�1��00
���

����N��1���
��	
(����	�1���(��
�
	=�		
11
�(�
 �
�
4
�����
��39�3E/�(�
�	=�		
11
�(�
��
(1������1

���1�	��=�00
����1�����
(��
(���(��
(�0��	��( �6
�(��1�
	
(��
�1

(��
�

((��
�
��		
11
�(�
�&
�����
*�*�
��	
�6�-����
*�*�
&�N����((�

�1�(�
�1��1�	
�1


�1��

�
�
11
���((�����=��+�
��1����
1��
�0

��

�����
�	�1�	�0B���N�
 ��
�
4
(�
�1

0
�(
(�N������
(1�((
�1����(�	
����
	�00
�
�1��
(����0�1
��
(��
���(
��
�	
�
(�(�	�
��(�(��1�
�*�	
�
�1�0�
1
�(
(��=��+�
��1���(�
1��=
�0�
�
��
(��1�	
(�0��
���
����

�

��
11
�0
��	���1�N�
 �
�
.�� ���
��� ��1����	�� 	=.9463� �� 
��	�(�� ��� ��0�
1��1� 1
����	� �
� ��(
� 
�� 
�(
��� �
(� 

((��
�
(��
��1���
�1���
��	
�#�
����

���
�1��
(��
�1�N�
(�N�����0

��(��
���1��	�(

��
(�0
�1�N�
(�
��((�
(�

1� �
� +���	�1

� 	�� ��++�(���� �
(� ��1B��
( � 3	� 0�
1���0
� L� ��
� ����
�B
� �
� N��	�1�� 
1� �
�
0
�+
((�����	�(�1�����
(���1
�
( �
��
%�����
*�*�
�����1
����	����1��
��	�(��������
(��
�	��0

��C

�0B�(
����#�
�����1�1�	�
�;�5��������	����
��
�������	� ��
� ��	
����
� ��� 
��������� � ������	�
���?� 
1�� ��� ���
(� �
� 	�� �
���C�
� 0B�(
� ��1�1�	�
�
;�5���������	� ��	
� � ��
�	����� ��
� #$(<?� ��
� ��� ���������
� ����� ��
� 
����	
� ��� ��
��8� ��
� ��0���� ���
�	����	� ���	������? � 4
(� 
�(�	1�1(� �
� �
(� 1
������ (��1� ��(0����	
(� (�
� 	
� (�1
� ��� 6�-�� ,,, ��
&
���
*�*�
 �
* �
�
4=
�(
��	
���� 1


�1��

��
� 	�����
*�*�
�
(1�N��(��
�1�����

1�0�
��
(�0	�1
+�
�
(��
� 	�11
����1

�
	=�		
11
�(�
�'�(
�	�	
�(
�1
�
�2�	��
�8�D�
&2�	��
���		
��=
(1�0�(�0
�(�
���B�
*
 �
�
4=%1�1�
1�	
�6��(
�	�
�*����	�+�����
�1��
(���1���(��
�+�
��1�����
���(
�
1��
(�0	�1
+�
�
( �
�
0��(�	=�

���
�
������&������
�7��(�
�
�#
��F��(�6.52%G���B�
*���
���((����
�*����	�3		
11
�(�
�

1� �
� 7��(�
�
� #
���O� 4.5-%9��� ����
� ��	�*��� 
�*����	� 
�� ���
*�*�
� �
� 	=.9463�� 	
(� 0	�1
(&
+�
�
(�(
�
����((
�1�L�����
�����
�N����=�1��1�0	�(�	
���(��
0��(��$$" �
�
4=5���

(�1���
����
*�*�
�0
�0�(
���
�	��
��
�0
�+
((����
		
�;�#�
��1
�
�
����	�
��0
�+
((����
	�?�
��
����
�(0����	�(�1����;�.00

�1�((�*
(�+�����
�1����
1�	�11
����1

�	=�		
11
�(�
�? �
�
���1
(� �
(� ������
(� ��1� 0

��(�� *
P�
�L� ��
��
�		
�

� ������((���
��
(�0��	��(�� 	�� �
��1�����=���
0�(�1����
�
�1� +�
��	�(�� 
�� ���"�� ��(0����	
� ��� 6�-� ���
*�*�
�'� 	
� 0�(�1����
�
�1� ;�
����	
� ���
��
��? �6=
(1���
����	��1����N�����

�
���
�����
�B
�

 �%		
�0

�
1��
���1

���

�(����
�0

(���
�

(1�
��(�1��1�����=�		
11
�(�
�
1��
�	=�
�
�1

��

(���
�+�
��1�������01�
����������0�*�
�
�1���
�����
������	
�����

(�����
1B�0B���(1
 �
.6�3&4%6� �� ��(� 
�� 0	��
� 	�� +�
��1���� 
1� 	=�����0�*�
�
�1� �=��� 
�(
��� �
� !�� ��1

�
���1(�
������	
(���
��� 
��0�
1���	�

�� 	����(
�
��S��

��=��
���1B���	�*�
��=���
������00

�1�((�*
(��
�
��(
��	���
��1�����
�(�00�
1(�0���*�*�N�
(����01�(�L��
(����	1
( �
4=��+�
��1����� 	�� (
�(���	�(�1���� 
1� 	�� +�
��1���� ��� 
�(
��� �
� 

	��(� 
1� �
� 0�
1
���

(� ��1� �1��
���	��
�
( ���
�
�
�0	
���"!�0
�+
((����
	(��
� 	=�**	���
�1������������(
���1�0�
1���0��
�1

������

1� ����� L� ��
� ���
��
� �
� +�
��1���� (�
� 	
(� 1BC�
(�'� ;�7��������	�� ���������	�� ���	��	�� ������
�	��
����������	���
�0����
������
�������
����
���������� ������	�
���? �
�

������������������������������������������������
����!�������"����'��
11
� 	�*�
�1�	�0B���N�
�(=��

((
�����0

(���
(�N���(��B��1
�1�����+���

��=��
���+�
��1��������=��
�
+�
��1���� (�
� 	=�00

�1�((�*
� �
� 	�� 	
�1�

�� �
� 	=��
�1�

� 
1� �
(� ���0�1
��
(� �
� ��(
�� ���� ��(1�1�1���(� H������(1
�1���(��
��((���(�	���	
(��.9�%��
�(
�����((����1�+(��
�1

0
�(
(VI������+�
��1
�
(�
1�L�1��1
�0

(���
�N���(��B��1
�(=
�*�*

����(�
	��	�11
����1

�	=�		
11
�(�
 ��



�

� ���

� � �  5����0�
1��1�1
����	��
���(
�
��
�(
����
(�

((��
�
(�

3	�
��(1
��
(�6
�1

(��
�

((��
�
(��		
11
�(�
�H6-3I���0�
1
�
�1�������
�*�������(�
�1��1�	
�1


�1��

�
+
��F��( � 4�� �������1�

� ��1�
		
� 0
���	�*�
� 	
(� �
�1

(� ��0�
1
�
�1���� ���� �
�1

(� 
�*������ � %��
���
*�*�
���=
(1�	
�6�-����
*�*�
�N����((�

��
11
�+���1��� ��
�

>�(1�
�N�
�
�1� 
�� ���
*�*�
�� 	�� +���1���� 6-3� 
(1� �((�
�
� 0�
� 	=%(0��
� �
� 

((��
�
(� 
1� �=�00��(�
0���*�*�N�
(� H%-.�I�� �
� �$$�� L� ���� � %�� (
01
��

� ������ 	=%-.�� 
(1� ��1�*
�� ��� 6
�1

�
�=��+�
��1���� (�
� 	�� +�
��1���� 0
�+
((����
		
� 
�� ���
*�*�
� H63#/�I � %�� �����

� ������ 	
� 6�-�
���
*�*�
� H6
�1

� 
�*����	� �
� 

((��
�
(� 0��
� 	
� 1
����	�� 	=
�0	��� 
1� 	�� +�
��1���I� 
(1� �
��� 0�
�


*
��0
�
�1� ��� 63#/�� 
1� �
� 	=�N��0
� 0

���
�1
� �
� 	=/�(

��1��

� 
�*����	� 
�0	��� +�
��1����
H/-%#I �
�

.� �B�N�
� 6�%-�� 	�� +���1���� 6-3� �� �1�� ���+��
� L� �
(� (1
��1�

(� ��++�

�1
( � /�� �
� 0
�1� 0�(� L�
0
�0

�
�1� 0�
	

� �=�
*���(�1���� ��� �=��(1�1�1�����	�(�1���� �
(� 6-3 � 3	� �=
��(1
� 0�(� �
� �����
�1�
�++���
	� ��+���((��1� 	
(� ��((���(� ��� 6-3 � 6
0
����1�� (��1
� L� ��
� ��	��1�� ������
� �
(� 6-3� (�
� 	
�
1


�1��

���1����	�����;����
��(���1����	��
(�6-3�?�
(1�
���*���

0C

�N����
�0�((C�
���1�
		
�
�1�0�(�
�
���	
�
��++���
		
 ��
�

6
������
�1�
�+�

��
���
�1�+�
�"���((���(��
(�6-3�'�
�

��7�((�����=��+�
��1����
1��=����
�	���0
C(����0��	��!�
1��
(�0
�+
((����
	(�W�
��7�((�����
���0�1�	�(�1����
1��
���++�(�����
(�

((��
�
(������
�1��

(�
1�0���*�*�N�
(�W�
��7�((�����=�����1�����
(�0	�1
+�
�
(�W�
��7�((�����=��*���

�
��
(���(0�(�1�+(�
1��=���
�������1�*
��
�0
��
1(�Z���++���	
�L��((�


���
��
11
�
��((�����
1�
���
���
(����0�1
��
(�(0���+�N�
(�N�
�	
�6�-����
*�*�
��
�0�((C�
�0�(�+�
���
�1 ��

�
.��6�-��	��0

(���
�N���(
��B�
*
��1��
�	��N�
(1�����
�	=�		
11
�(�
�	
�+��(��1�
��0	�(��
�(
(���((���(�
B���1�
		
( ��
0��(�	=�

���
��
�#
���O�4.5-%9����
(����	�1���(�0
��
�1�R1

����(1�1�
(�'�
�

& 	
�6�-����
*�*�
�
(1���
�����
�1�+���
��1��1�N�
�6-3�W�
& (��1
� L� ��
� �
����
� �
� 	�� �-�%#��� ��� ��&1
�0(� ���(��
�� �++���
		
�
�1� L� 	�� ��((����

;��		
11
�(�
�?����1���
�� ��
�

4=.9463�+��C

�������
�����1����	�
1��
����
�L�#
���O�4.5-%9���
�(=�00�J

����N��1���
��(�
�	
�
6-3 � 4
(� �B��*
�
�1(� (���
((�+(� �
� �B�
*�(� �
���((���� 
�*�������
�����
*�*�
���1� 
�1
�A�����
�
��(1���	�1��N����=
(1�0�(�0
�0��
�������
	�00
�
�1��
�	=��1����(�
�	
�	��*�1

�
 ��
�

� � �  4
(������((���(�1B���1�N�
(��
���(
�
��S��

�����-463�

4
� �	��� 
�*����	� �
� 	�11
� ���1

� 	=�		
11
�(�
� 
�� ���
*�*�
� 
�0���� ��� �
(���� �
� ��
��� �
*���(

�
	=��1�����
��+���
��1���1��
��=���
�1�+(�0�
1�*�(�1��(��
���N���0

��
�1�0�
1�L�	��0
��
�1����
1�	��	�11
�
���1

�	=�		
11
�(�
 ��
6
0
����1�� �
� 0	��� 
�*����	� ���N�
� �=�0�
�1�����	�1�� 
�� ���
*�*�
� 
1� �
�
��1�� 0��
� 0�		�

� �
11
�
��

��
��(
�����
��
�+��B
(���1���( ��
�
���
� �
	��� 	=.9463� �
*���(
�� 
�� 	�
�� ��
�� 	
� �B�
*�� �
� ��((���� 
�*����	�� 	�� 1
��
� �
� �����((���(�
1B���1�N�
(�(�
�'�
�

&�	=�		
11
�(�
�
1�	
�����
����1
����	�W�
&�	��0
��
�1����W�
&�	=��(

1�����
(��
��
( �

������������������������������������������������
!�4
�6�-����
*�*�
�(=��

((
�����0
�+
((����
	( �4=��+�
��1����(�
�	=�		
11
�(�
��
(1���
����*
����0��	���+��1�
��
01��� ��



�

� �!�

�
6B�N�
������((�����
�
��'�
�

&���1��	�(

�	=�1�1��
(�	�
������0	���W�
&��
11

�	
(���1���(�
����B�

��
�W�
&���	�
�(

�	
(���1���(�
��	
(�+�
��	�(��1�L�	=���
��
�+��B
(���1���(�H�0�
�1�����	�(

I�W�
&�+��

��
(�0
�0�(�1���(��
����
	�00
�
�1(�H�����

I �

�
6
(������((���(�0

�
11
�1�����0�����
(�0��	��(�
1�������1
�
(�(����&�������N�
(�����

��(��
�(
�


����1


���=��B��*

�
1��
���1��	�(

�	
�
(�0
�1�N�
( �
4
�1�((�����
*��*�����=��1
�
(��
�	��	�11
����1

�	=�		
11
�(�
�
(1��
�(
����(�
�

(�(��1�	
(�����(���(��
�
�
11

�
�������� ��
�

� � "  4
�0	����
�0
��
�1�����
�	=�		
11
�(�
��

5��0	����
�0
��
�1�����
� 	=�		
11
�(�
�
(1���(�
��0	��
��
0��(������0�
� 	
�����(1C

��
� 	=%����1����
��1����	
 �3	�(=��(�
�1����(�	
����

����0
�*
���
���(��1�L�;�	
���	������	����	��
�����	��? �
�
5�� 1����� 
(1� ���(�� 	
��� ��� (
��� �
� 	=��(1�1�1���� N��� ��(N�
� 	L� �1��1� 
�1��
�1
� L� +��

� 
�0	���1
�
�1�

�+�

��
� L� 	=�		
11
�(�
� 0��(N�
� 	
(� �
��
(� ���1� 
		
� �� 	�� �B�
*
� (��1� 
�� ���
(� �
� (��	�
�(�1��� �
.��	��


�	=�00

�1�((�*
��
�	��	
�1�

��C(�	
�0
����

�
(1�

����������
���
�;�0
��
�1����(�	�
�? ��
�
.�
�� 	
� 0	��� �
� 0
��
�1���� �
� 	=�		
11
�(�
�� ��
� �11
�1���� 0�
1���	�C

� 
(1� ����
��
� ��� ���
(�
0
�0�
�1��

 �5��	��

1�;�4�

����6����-
0�


�	
(���++���	1�(�0��
���
����*�
�?����1����++�(��L�1��(�	
(�
��A1

(�����J�	
�33�H
��	�*�
�(�
�	
�(�1
�,,, 
��(��	 
����1��� +
I �
�
�



�

� �$�

3< ��	�����	������	���������� !�	��	
����"�"��	

�

� �  754�3�4363�%��%8�.6�%5-8��%�4.�45��%�6/9�-%�
4=344%��-387%�'�<5%44%8�.6�3/98�[�

� � �  4
�6��(
�	�
�*����	��
����
*�*�
�

3<@<@<@< 2 �����������������A
��������
��������������	��� ������	�
���

4=�		
11
�(�
� �=
(1� 0�(� ��
� ���0�1
��
� 
�*����	
� ���(� 

	C�
� ��� �B��0� �=��1���(� �
� 	=%1�1 �
6
0
����1��	
�6��(
�	�
�*����	��
����
*�*�
�
�0
��
�	����	��1��0�	�1�N�
��
�

�+�
�

�	=
�0	�J���	�1��
�
(�0

(���
(�
����++���	1���=��(

1����0
�+
((����
		
 �
3	��
1� 
��0	��
��
(� ��(0�(�1�+(� �=�����0�*�
�
�1� �

(� 	=
�0	��� ���(� 	=���
�1�+� �=���

� L� �����

� L�
	=
�0	���
1\���L���
�+�
��1����N��	�+���1
�����

1�+���1
 �
6
11
���1�������6��(
�	� 
�*����	�
(1����0	��
�1��

��
� (
(����0�1
��
(�;��
��
��1� �������?�N�
�
(��1� 	�� +�
��1����0
�+
((����
		
� 
1� 	=�00

�1�((�*
 �6
11
� 0�	�1�N�
� �B��(�
� ��
�1� �00�
1

���
�0	�(&
��	�
�N�����	
(�0

(���
(�(��1�
����++���	1�(�
1��
�0
��
�1������

���

�1
�
�1�L���
�+�
��1�������
���
�0	�� ��
�

4��-�*����+�����
�	
(�0	�1
+�
�
(��
�	�11
����1

�	=�		
11
�(�
����1�	
(���((���(�(=�1
��
�1����

0�
�*
�
�����	���0�
� 	
�����(��
�1
(1(��
����
����L� 	����(
�
��

	�1������
�� 	
(��
*���(�
(��
�+�
��1����N���
0
�0�(
�1���
����
����
((��

�
1����������	�(�
 �
6
(�0	�1
+�
�
(�(��1��*�	
�
�1�+������
(�0�
�	=%1�1��	
�#8%�H���(�	
����

��
�	=�*�	�1���
(��B���
(I��
	
(���		
�1���1�(�	���	
(�	
(�0	�(�0
��B
(����1


�1��

�H6��(
�	�*���
�	��������
(VI �
�

���
� 	�� ��(
� 
�� 0	��
� �=��1���(� �
� +�
��1���� ���01�
�� 	�� -�*���� 	���
���� �00
	� L� 0
��
1( � 8�
� 	
�
���1
���0���*�*�N�
�
1�(�
�	=�
*���(�1�����
		
�	��((
��
�����0��
�	��

1��
1��
�	�1�1��
������
�1

(�
�
�+�
��1�����
		
�
(0C

����(��

��
�		�
��
(�0
�0�(�1���(��������1
( ��
	

.�� 1�1�	�� 	�� -�*���� ���(��

� ��� 0
�� ����(� �
� �������� 
�
�(� L� 	�� 	�11
� ���1

� 	=�		
11
�(�
� L�
0
�0

�
�1�0�
	

��L�(����
���������
�
�(�0��
�	
(�0	�1
+�
�
(�
1��!������
�
�(�0��
�	
(���1���(��
�
+�
��1���$ �
�

3<@<@<3< 2�
�������
�������A
������

4��-�*����0

���
���B�
*
�'�
�

&� ��	 :����������	��	 ��	 ���
�������	 ���������
��	)���	 ���	 ?�����I�������	����������	����)����M	
)����:����	��2�	��������
�	)���	
��%8.7�H6����	�

�	=�������N�
�
1�	
�(����	�����

�������1�1���(I�

��6D1
&�=/
�� 	=.#�3� H.((����1����0��
� 	=
�(
�*�
�
�1�
1� 	�� +�
��1�����
(� 1
����		
�
(� ����*
�(I�
��
8�D�
&
1&4��

�� 	
� #�
��� 0

���
�1� �
(� 0
�1�N�
(� �
*���(�� 0�
� 	=.9463� (�
� 	
(� 1


�1��

(�� ���(� 	��
9�C�

�
1�	=M���
��	=3#�.�H3�(1�1�1��
�+�
��1����0��
����	1
(I�
��8�D�
&
1&4��

 ��
%		
��
*���(
���
�0�
1�
��	1

����
�
��
�1

0
�(
�0��
��
�0��	�� �4��-�*���� 	��+�����
�L�B��1
�
��
�
J99	999	����� �

������������������������������������������������
$�.� ��1

� N�
� 	
(� ����
(� 0
����
�1
(�� 	��-�*���� +����F��1� 	�� 	�11
� ���1

� 	=�		
11
�(�
�L� B��1
�
� �
��������� 
�
�( �6
11
�
����
��
		
���*�
�1
��
����T�(������*
1��
��0�
1�
�0��
�����
�
��
(�K��
(�*��*
�0B�N�
(�0	�(���0�
1��1
(�
1��00
��B

�	
(�
0��	��(�	
(�0	�(�
����++���	1� ��



�

� ���

(	��	���)�����:	���	���	��8����	��	+���	M	*�2�	C*��)�����:	������:��������	��	�������)��������D�
N����
*���(
��
(���1���(��
�+�
��1�������������	�(�
(�(���
�1�
���1
	�

(��
�0���*�*�
�0

(����	�(�
�
H.��I� ��� 
�� E

1� � 4=�00
	� L� 0
��
1(� (�
� �� ��(� �� �1�� 	����� 
�� ���� � 4
� +�����
�
�1� (=�	C�
� L�
>99	999	�����	������� �
��	�����
	��	���8�	�	�����������	#	C� �D	���1����(�
��0	��
�0�
�#
���O�4.5-%9����B�
*���
���((����

�*����	� �		
11
�(�
 � 6
� ����1�� ���1� 0

�
11

� ��1���
�1� 	�� ���
����1���� �
(� ��1���(� 
1� 	��
��1��	�(�1�����
(�+�����
�
�1( �
�

4��-�*����+�����
�
��0
��
�1���
(��
*���(�
(��
�+�
��1�����

	
���1��
�(�����0�1
��
�
����1�C

��
�
+�
��1��� ����(�	
����

��
�(����00
	��=�++

��	
(��
*���(�
(��
�+�
��1����(��1���	�*�(��
�0�((

�0�
�
��
�0	�1
+�
�
��+����
�0�����
������
������01

�	
(����1
��(��
�+�
��1����������
����
(�0

(���
(�
����
�		�
( �5��(�����
(1�
�(��1
���(�
��0	��
 ��
4��-�*����

������1�	����++���	1���
�����	�(

�(�
�	����
�
��=��
�+�
��1����	
(�0

(���
(�
��(�1��1����
�=�		
11
�(�
 �6=
(1�0��
N����
�� 	��((��1���
�0	�(�*
���
� 	��

1��0���*�*�N�
��
		
�
(0C

�N�
� 	=�++

�
(

����
������01�
 �4
���B�

��
(��B�
*
(����0

�����
��

1���
���0	�1��
�N���0

�
1������
�1

(�
�
� +�
��1���� �
� �
� +��

� N�
� ��� (����� ���������	�(�� (=�	(� 	
� (��B��1
�1 � ���
� �
11
� 
��(���� 	
(�
+�����
�
�1(�
�*���������1���*�
�1� �
�

� � �  4
(���1
�
(��
�	=X1�1�
��
�*����

3<@<3<@< 2�� /�	������� 	
�������� ��� �	������� ��� � ������� ��� ��� ��� ��	�������
�	���

���������

4
� ����(1C

� �
� 	=%������
�� �
� 	=����(1
�
� 
1� �
� 	=
�0	��� 0�((C�
� �
(� ��J
�(� �
� 	�11
� ���1

�
	=�		
11
�(�
 �
4
�0
�*
���
�3-344� H3�(

1����
1� 	�11
����1

� 	=�		
11
�(�
I��
��������(=�	
���1�L���������
�
�(�0��
�
+�����

�	��+�
��1��� �%�����!��	
(��
���1(�3-344�(=�	C�
�1�L���������
�
�(�
1�(��1�������
�1
�(�����
��

�1���(���0�
1
�
�1�	
(��
�	=%1�1��+����
�
�00
��B

�	
(�1
��1
�
�1(��
(���((�

(����1


�1��

 ��
�
4�� �-�%#�� �
� +�����
� 0�(� 	
(� 0	�1
+�
�
(� ���(� 	
(� 0
��
1(� �=��1���(� �=�����0�*�
�
�1� �
(�
������	
(�� �
(� ���	�1���(� �=��1�	(� 0���*�*�N�
(V� 4
(� �
�1C

(� 

1
��(� ���(� 	
� ��B�

� �
(� �B�
*
(�
+���
�(
�1� �
(� +�
��1���(� (��0	
(� ��� 0	�(� 0
C(� �
(� �
(���(� 1


�1�
������ ��
� 0���*�*�
� ���01�
� ���
0��	���N����� (���
�1����L� (�����
(���B
�(�(��	��

( �4���-�%#��
(1��((����
��������1���
�(��������
�	���
�*����	 �
�

.�0�
����1�� 	�� �-�%#�� +����F��1� 	
(� .��� H�1
	�

(� 0���*�*�N�
(� 0

(����	�(�(I� 
1� 	
(� 3-344�� L�
B��1
�
��

(0
�1��
�
�1���
�$!������
�
�(�
1���������
�
�( �6
(��
���(��
�
(��
�+�����
�
�1����1�
+�(����

�
����
�(
�	
�	�*�
��N���0

�
11
���
�+�����

��
(���1���(��
�+�
��1����0��
�	=��N��(�1�����
�
���0�1
��
(��	�( ��
4
�
�+�

�1�
	��
(����0�1
��
(��	�(����R1

��	���
��0�
�	
�����(1C

��
�	=%������
���
�	=����(1
�
�
1��
�
	=
�0	����0�
�	=.9463��0�
�	=%����1������1����	
 �
�

6
(����0�1
��
(���


(0���
�1�L�'�
�

&�	����	1�

��
(���1B���1�N�
(��(��
��
(��1
�B��	�*�
(�W�
&�	�����������1����
��+
��F��(�W�
&�	����	1�

�����
�N�
���00

��

�L��00

��

�W�
&�	�����������1����
��	��*�
��1
��*C

 �
�



�

� ���

3<@<3<3< 2 5������������������������*

����
�������������� 
�����
���
��*����
�

4=.68%� 
(1� ��� �
��
� �
*���(�
� �((�� �
� 	�� 	��� (�
� 	=�*�	�1�� �
(� �B���
(� ��� ��� ��
(� ����� N��� (
�
(��(1�1�
����#.834����H�
���	���
���$�!�0�
�	
�E���
�	��
�E��		
I �
4=.68%�

0

���
1��1
���	����((�������#.834��
�����1
�����1�L��
(���1���(�
��+��
�
��
�0

(���
(�

����++���	1���=��(

1����0
�+
((����
		
�
1�(����	
 �
�

4�� 	�11
� ���1

� 	=�		
11
�(�
� 
(1� ��(�
�1
� �
0��(� ����� ���(� 	
(� 0
��
�1�(� �
� 	=.68% � 6
0
����1�� 	��
-�+�
�
� *���
�	
� �
(� 0�	�1�N�
(� 0��	�N�
(� H-E��I� �
� �
�1����
� 0	�(� 	�� 	�11
� ���1

� 	=�		
11
�(�
�
����
���
���((�����
�	=.68% ��
�

���
0��(������

�������	=.68%���0�
1���0��L�'�
�

(	�����������	���	)����	��	������0�
�'��
�

 �	������	�(�1�����
(���1
�
(�
1�	=�����1���������(0�(�1�+�W�
 �	=����
�&���

���
��	=.9463�H.68%�
(1��
��

��
�(������(
�	��=������(1
�1���I�W�
 �	
�1
����	�
�����������
��	
�6�- �
�

(	��	)�
8������	%	
	

 � 
�� ������
��1� �
� ����C

� 0
����
� L� 	�� 
��((�1
� (��	��

� H1
����	� (�
� �
(� ��1���(� B�
(� 1
�0(�
(��	��

�����(�	
(����1
�1(�	�������=�����0�*�
�
�1�(��	��

��
1�	
(����1
�1(������1�+(�	�����I�W�
 � 0
����1� 	
(� ������
(� (��	��

(�� 
�� ���1
�����1� L� ����1
��
� �
(� ���	
(� ���

1
(� 
1� ��(
(� L�
��(0�(�1����0��
�(��1�
�������1�+��
1�(��	��

 �
�

(	��	�
�������	��������	%��
�

 �
�������1����
�00
��B
�
�1�
�1

�0�

�1(�
1�0
�+
((
�
(�W�
 �
����0	�N���1������1�*
�	
(�0�

�1( �
�

(	��	:��������	���	�������	%	
	

 �
���
11��1�
��0	��
������(0�(�1�+��=�00

�1�((�*
����+
��F��(�0��
�	
(����	0B��C1
(�W�
 �
���
*���(��1��
(��1
	�

(�(����	��*��(1�N�
(�
1��
(�+�
��1���(��=��1
�
(���
�0
�+
((����
	(�
1��
�
������	
( �

�
��	
�������	��	 �������������	��8����	)���7�	B���	�����	��	 �����K�	;	 ��	 ������	��	��	 ��	��N�����	���	
��8����	��	+���<	
��	���0������	�������
�I����)0�+K���I2��	��	������)���	)��	;	���	�
����
<	��	)���N�	 ��)������	��	
���8������	;	��	����	��	)����	����	���K�	;	��	������	����::
�����
	�����	���	)�+����<		
	

� � �  4
(�0	�1
+�
�
(�'�	
�
(���1���(�0�
���0�
1
�
�1�

4
(�0	�1
+�
�
(��
�	�11
����1

�	]�		
11
�(�
����(1�1�
�1�	]����
(�0���1(������(0�(�1�+����
*��*�����
�	�11
�
���1

�	]�		
11
�(�
 �
�
4
�
(���1���(�(]�
*���(
�1���1��
��
�(���*
���
(���((���(�'�
�

&�	]����
�	��	
�0�(�1����
�
�1�
1�	]�
�
�1�1�����
(�0

(���
(�

0�
�
(�
��(�1��1�����]�		
11
�(�
�W�
&�	�����(1
��1����
1�	
�(��������0�
���
(��
(�0

(���
(�

	
���1��
�(�1��1���(��]�		
11
�(�
�W�

������������������������������������������������
���#.834��'�#���(��=���
�
1��
�(��1�
��0��
�	=��1�*
�1����
1�	��	�11
����1

�	
(���(�
�����1���( �%1��	�((
�
�1�0��	����((�����
+���(��=��1����(����	
�0��
�	
(�1
����		
�
(���(�	���(��=.	*�
�
�
����1
�0�	
�
1�0��
�	
�
(�+���		
(��+�����
���$�!��+����F��1�
�
(��0�
�1���(�
��+��
�
��
�	=��1�*
�1�����
(�����*
�(�
1��
(�0�0�	�1���(����(���
�
(�����
�1
		
( �



�

� ���

&�	��(
�(���	�(�1�����
(�(1
��1�

(�

	��(����

0�
�*
��L�	������	�(�1����
1�L�	]�����0�*�
�
�1��
(�
(�1��1���(��]�		
11
�(�
�W�
&�	
����*��(1����
(��
(���(�	�������
�+�
��1����W�
&� 	�� 0�
1���0�1���� L� 	]�	���
�1���� �
� 	]�++

� �
� +�
��1���� 	���	
� 
�� �00�
1��1� 	
�
� 
�0

1�(
� ����
�
*���(�
(��
�+�
��1����W�
&�	
�

�
�1
�
�1�
1�	]�����1�����]���*
��0
��
�������	
(�0��
���
�

�����1������������
		
 �

�

.������

��
�����
		
(�(��1�
�0�
1�
(�(�
�	]
�(
��	
��
�	��
�*�������
*�*�
 �
�

3<@<J<@< 2 B�����8�� C/5D##�������������������������	��� ������	�
���
�	������		����	��

4=5�.#��
�	=M���
�0�
1
���0	�1
+�
�
(�(�
�	
(�"�
��(1��1
(�(�
�	
���0�
1
�
�1�'��
		
(��
�	=.��		����(&
����


��(� H�$$�I�� ��� 8������(� H����I�� 
1� �
� 	=.��


��(� H���"I�� ���
�����
(� L� 	=��B
		
�
��0�
1
�
�1�	
 �
4=5�.#�
(1���
���(1�1�1����N���0�
1
���((�����(

���
��
�1�1
		
(�H0	�(��
����(�	�
��(I�(�
�	=
�(
��	
����
1


�1��

��������( �6B�N�
�0	�1
+�
�
�
(1������
�0�
����(
�
�1��

�
1����(�	�
����L�1
�0(�0	
�� �
�

8��1
�L���
�

����1

���
��	
�
(�B���	�*�
(�
�*��������	=5�.#�(=
(1��0

F��N�
�	��8�D�
&
1&4��

�
1�
	=M���
� �1��
�1� 	
(� (
�	(� ��0�
1
�
�1(� L� 

�
���
� 	=
�(
��	
� ��� 0��	��� �J��1� �
(� ��++���	1�(�
	��*��(1�N�
(��L�(����
� 	
(�0

(���
(�
��(�1��1�����=�		
11
�(�
���=���	0B���1�(�
�
1� 	
(�#4% �4
(��
���
��1

(� ��0�
1
�
�1(�� 	�� 9�C�

� 
1� 	�� 6D1
&�=/
� (
� ����
�1

�1� (�
� 	
(� 0

(���
(� 

	
���1� �
�
	=�		
11
�(�
 ��
3	�(

��1�0

1��
�1��=��(1��


���
���B�

��
�
�*����	
 ��
�

4
� 
D	
��
� 	=5�.#���
(1��
� 1
���

� 	
(� +���(����
((��

(���� +���1����
�
�1��
(�0	�1
+�
�
(���0
C(�
�=��
����K���
��
�+�����
�
(�H��		
�1���1�(�1


�1�
��	
(��.68%����0�
1
�
�1��6��(
�	�
�*����	��%�
�0
I�

1��
����
����

�	
(���0	�1
+�
�
(���
��������*
1��=
���
�����������
�
�( �
�
0��(�����(��	��(�1��1����
(1�0�
1���	�C

�
�1���++���	
���
�	
(�(���
�1���(��
��
((
�1��
�������

�'�
��
������	=%�
�0
�+����F��1�L�B��1
�
��
�"!�T�
1�
�����!��L�B��1
�
��
��$�T ��
�=����������	=%�
�0
�(
���(
�*�*

��0
��L�0
��0��
�+���
�0�
��
�0	�(�(���
�1����

�	
(�0	�1
+�
�
(��
�
	�11
����1

�	=�		
11
�(�
 ��
�

3<@<J<3< 2��@�E������2��	��

8���0	�1
+�
�
(�45�34%.�����

�1�	=
�(
��	
����1


�1��

����
���������
���0�(1
(��
�0

���
�1(�0�
�
0	�1
+�
�
 �
4
� +�����
�
�1���� +���1����
�
�1��
(�0	�1
+�
�
(�0
���
�1����6��(
�	�*���
�	�N���
�0
��
��
0��(�
�$$"���
���	��1���
�+���


�	��	�11
����1

�	=�		
11
�(�
�(�
�	
�1


�1��

��
�	��8�D�
&
1&4��

�����#8%�
1�
�
� 	=%1�1���
�� 	=3-344 ��=��1

(� +�����
�
�1(�0
��
�1�
��(1

�
�� +���1�����
(� 1


�1��

(�'�%1�1\6568��
��������1�(��
�������
(��+����1���( �/��0
�1�
���(�*

��*�	
�
�1��
(�+�����
�
�1(����6��(
�	�

�*����	��
����
*�*�
���
(���J(���
�	=.68% ��
4
(� �
���1(� 0	�
�����
	(� 1
��(�1
�1� 0�
� 	=.68%� 
1� 

�0	��
�1� 	=����
�� #.834� � 4�� ��	1�1��
� �
(�
+�����
�
�1(�����	�(��	
(�
1�	
�
�

����
		
�
�1�����
	�
�*
��

�1����1
����	���0�
1��1��
����1�*
�
�
���((�

(�
1���
���(���	�1��L����
1�1

�
 ���
6B�N�
�0	�1
+�
�
�
(1�0�
1�
�0�
�����
*���(�
�� (��1� ��
���((���� 	���	
�� (��1� ��
�73#%��
��
01��L�
7P�����U� 	��0	�1
+�
�
�
(1�0�
1�
�0�
���
��((����1��� �4
(�0	�1
+�
�
(��=��1������0�(��=
��(1
��
�
��
���N�
�0
�0

 ��
�

45�34%.� �((�

� ��
� ��((���� �
� (

���
� 0��	��� �B�
*�
� �
� ���
����

� 	
(� ��1���(� 

	�1��
(� ����
��++���	1�(� 	��*��(1�N�
( � 6=
(1� ��� 	�
�� ���N�
� �=����
�	�� �
� 0�(�1����
�
�1� 
1� �
� ��(
� 
�� 0	��
� �
�

������������������������������������������������
���5�������0�
1
�
�1�	
��
(��((����1���(�+���	��	
( �
���6��1
�1(��
����(��
���B�(����(����	
 �



�

� ���

0�
���
(�� ������ 
1� 

������ 0�
� 	
(� 0�
1
���

( � 4
(� 0	�1
+�
�
(� �=��1� 0�(� ����1���� L� �((�


� �
(�
��((���(� �=�	0B���1�(�1������0
C(� �
� 0

(���
(��1
��*C

( � 3	� �

��
� �
0
����1� N�
��
(� 0�
1
���

(�


	��(� �
�
�1
�1� �
(� 0

(���
(� ��*
��1
(� �

(� 45�34%.�� N��� 	
(� ����
�		
� 
1� 	
(� �
�
�1
� �

(� 	
(�
(1
��1�

(����01�
( �6B�N�
�0	�1
+�
�
�
�0
��
�	����	��1���=R1

����0�
1��	��=
�1
�
�0��
�1��( ��
�

4
(���1

(�0
��
1(����1�(�
1�(����(�0�
�45�34%.�0
��
�1�1���B

�0�
�
�
�0	
�L�	=���
��
�	=�N��0
��=���
6
�1

��=���
�0�
�	
�1
����	�0��
�	
����1�*
��=����1
	�

��=��
�1�

 ��
45�34%.��((�

���((��	��0

��C

����	��1�����
(�-73(1
(�N���0
��
�1�����+���

��=��
�0
�(
�
���B�
*
�
0�
1�
		
� 0�
� 	
� 6��(
�	� *���
�	� ��� ��Y1� �
� 	
�
� 0

��(� �
� ������

 � ���
� �
� +��

�� �	(� ����
�1� +��

�
���	�

�	
�
���A1
�(
��
�	=��
�1�����1��=���
�

�	
(����
(��
����
�
1��
��+����
����
	

��=��
�1�
		
(�
��++���	1�(�N���
�1
��

��
�1�	��+�
��1����L�	��������1
 ��
3	� �

��
�N�
�45�34%.���1� �
(��
����
(��=
�1

0
�(
(����(� �
	�� 

(1
���
*���	�W� 	
(� (�	�
��(� +��1� 	
�
0	�(�(���
�1��
(�����
�B
(���������
		
(�(��(�0�((

�0�
�	
�
�
�1

0
�(
 ��
�

�
0��(� ������ 45�34%.� ���(1�1
� 	=��*�
�1�1���� ��� 0��	��� (���� � �
(� ��1�	(� ��1� �1�� �
��(�'�
0�(�1����
�
�1�� �B�
1
� �
(� ������	
(�� 0	��� �
� +�
��1���� �
(� ���
�����1
�
(� 
1� �
(� ������	
(��
0	�N�
11
(V �
4��#R1
���0�
1
�
�1�	
��
�	=��
�1�

����1����(
�
��0	��
�'�
		
�
����1� 	
(��00

���1(�� 	
(�+�����
�
(��
	
(�0�
1
���

(�
1���(
�L�+��

����	�

�	
(�

0
�(
�1�1���(�(�
�	=�		
11
�(�
 ��
3	� �=J� �� 0	�(� �
���
�1� �
� ���
����1���� 0���*�*�N�
� ��� 1
�B��N�
� ��� ��(0�(�1�+� 45�34%. � �
0��(�

���
��� ��� ���� 	=����
��
� 0
�+C1
� �
� 8�D�
&
1&4��

� �� ������ 	
� ��

�1
�
� ��0�
1
�
�1�	� �
� 	��
�
��
((
�
1��
(�(0�
1(�N����	��&�R�
�������+���	����((����L���
�0

(���
��
�(����N��0
�
��0	�(��
�(���
1
����	�B���1�
	 �
%��8�D�
&
1&4��

��	=��B
	�����0�
1
�
�1�	�(
��	
�0��
1��1�0

1��
�1 ��
�

3<@<J<J< 2��.E���� F	�

4=.����1����	�11
����1

�	=�		
11
�(�
��
�	=�**	���
�1������������(
�H.463��3Q/9�N���(

�������
�
��
�$$"�.6�3&4%6I����1���
��
�
�����
��

��$!$����(� 	
����

�������1
�1��
�0	���X1�1&-�*��� �8���
1


�1��

� �=��1

�
�1���� +�1� �=���
�� 	=
�(
��	
� ��� ��((��� �=
�0	��� �
� �3Q/9� H	=�**	���
�1����
��������(
�
1�	
�2�	��
�8�D�
\2�	��
���		
I ��
C(���1
���
�1


�1��

�+�1�0�
1�*��
���
���.����1���(��
�
	�11
� ���1

� 	=�		
11
�(�
� H.463��3Q/9� 0��
� 	=�**	���
�1���� ��������(
� 
1� .463� 2�	� �
� 8�D�
\2�	� �
�
��		
I �.463�2�	��
�8�D�
\2�	��
���		
���+���1������	
�1
�0(�������1
�1��
�0	���'��
�1


�1��

��=
(1�0	�(�
����

1��
0��(��$$" �
%��������	��0	�1
+�
�
�.6�3&4%6����1��+������
�0�
�	=%1�1��	
�6��(
�	�
�*����	��	
�6��(
�	�*���
�	��	��
6�������1���
� 	=�**	���
�1������������(
�
1� 	
(�������
(��
��3Q/9��4/9E236��<5%�3E9M�
1�
�.4.9� �
.6�3&4%6�
(1������
�0�
�1
��(������1
�
(�0
�+
((����
	(�H���N����	
�1(�1
�0(�0	
��I �
6
(� 1
��(� �����1
�
(� ����
�		
�1�� 0�(�1����
�1�� �����0�*�
�1� 
1� �((�

�1� 	
� (����� �
� ����L� ����
0

(���
(�0�
����W����N�
�
�1��
(�0

(���
(�
��(�1��1�����=�		
11
�(�
 �%��
++
1��.6�3&4%6��
�0

���
0�(�
���B�
*
�	
(�0

(���
(����	0B��C1
(�H0

(���
(�N����=��1������(��00
�(�L�	�

�
1�L���
�

I��
1�	
(�
0

(���
(�#
��F��(�	��*�
��1
��*C

�H0

(���
(��J��1��1��(��	�
�(�
(����(���
���1

�	��*�
�N�
�	
�
+
��F��(I �
�

4
(�1
��(������1
�
(��=.6�3&4%6�(��1�(�	�
��(����6%8.7�H�
*���(�
��
�+�
��1���I��
1�	��0	�1
+�
�
�
.6�3&4%6���0��
��
*���(�
&(�00�
1�	=5�������0�
1
�
�1�	
��
(�66.8���
1��
(�63.8�"��
�6D1
&�=/
�
H5��66.8���I ��

������������������������������������������������
���6
�1

��������	��=��1����(����	
 �
�"�6
�1

���1

�������	��=��1����(����	
 �



�

� �"�

�

4��4�*�
��
�	=
�(
�*�
�
�1��
�6D1
&�=/
�
(1���((�����
�0�
�	
�6��(
�	�
�*����	��
����
*�*�
�
1�0�
�
	�� ���%#�� 0��
� ���
����

� �
��� 0	�1
+�
�
(� ;� �		
11
�(�
� ?� (�
� 	
� ��0�
1
�
�1� �
� 	�� 6D1
&�=/
� '�
	=��
�(�
�	=�

����((
�
�1��
�7��1��
���	=��1

�(�
�	=�

����((
�
�1��
��
���
 �6
(��
���0	�1
+�
�
(�
(��1�
����
(����(
������*�<��<����<�
�
�3 6/ 6436�(=��

((
�0
��
�1��

�
�1�0��
�	=����
�����������
����
�
(��=
�0	����
�0	�(��
������(�
(�
1�(����(J(1C�
�(��	��

�(��B��1��1��00

��

����
��00

��

�L�	�

����
�

����	��	

 ��
%		
�0

����*�	
�
�1�
�����01
�	=�		
11
�(�
����(�	
���	�
��0
�+
((����
	���B
K�	
(�0

(���
(�P*�
(�
1�
L�����1����L�1
����		

�(�
�	��N�
(1�����
�	��0
��
�1��� ��
�

�3 6/ 6436��*�1����(��
�����

�1���(�0�
�'�
�

@<	���	������������	���	�������	��	��������	�������6	��	����)���6	��	�����������6	��	��
������
��	��	
��	:��������6	���	
���	)���	������	�::���������	������	�������������6	����	)����	)��	%	
	

&� 	�� (
�(���	�(�1���\+�
��1���� �
(� (1
��1�

(� 

	��(� ��� 

0�
�*
� �
(� 0

(���
(� 

����1
��1� �
(�
��++���	1�(��
�	
�1�

�
1��=��
�1�

�H(��(�	��+�
�
��
����
��
(�0���1�
		
(��
�+�
��1���I�W�
&�	�����(1
��1����
1�	
�(��������0�
���
(��
��
(�0

(���
(�W�
&�	
����*��(1����
(��
(���(�	�������
�+�
��1����W�
&���
���+�
��1����
����

�1�������*
����0��	���
1��
(�0
�+
((����
	(�W�
&�	
�

�
�1
�
�1�
1�	=�����1�����=���*
��0
��
�������	
(�0��
���
�

�����1������������
		
 ��

�

3<	��	�����)��������	���	)��������	������:�
��	��	���������	�������������	��	)��������	
��)��	%	
�

&� 	
� 

0�
�*
�� 	=����
�	� 
1� 	=�����0�*�
�
�1� �
(� 0

(���
(� 
�� 	�
�� ��
�� 	
(� �
��

(� �
� 	��
0	�1
+�
�
�W�
&�	
�0�(�1����
�
�1�
1�	=�
�
�1�1�����

(���
�+�
��1����W�
&�	
�(�����0�(1�+�
��1����
��	�
����
��	
(��
��

(��
�	��0	�1
+�
�
 ��

�

6
11
�+�
��1����0

�
1�����
����
�
��
�'�
�

&�1
����		

�(�
�(���0
��
1�0

(���
	�
1�0
�+
((����
	�W�
&�

0

��

����+����
�
��(���
���
11��1�
������1�(
(��1��1(�
1���1�
R1(�0

(���
	(�W�
&�(�
1�
��
�	=�(�	
�
�1�W�
&�0
�0�


�	
(�1
(1(��=
�1
�
����(��
(��
�1

(��
�+�
��1����H�J0
�.#�.��E-%�.��.��VI�����

�L�
0�((

�(���0

��(��
�������

��L��������N�

���������
����1
�
�W�
&�+���
�(

�	
(�����
�B
(�������(1
�1��
( �

�

���+?����:	��	���8�	��	��	��	:��������	���	��	:�8������	����
��������	��	�����������	�
��������	)���	
�����:����	���	+������	
���������	����������6	�O���
���	;	��	����,�����
<	
	
.+��� �
� 

�0	�
� �
(� ��((���(�� ��
� ��		���
�1���� �1
��1
� 
(1� ���
((��

� 
�1

� 	�� 0	�1
+�
�
� �
� 	�11
�
���1

�	=�		
11
�(�
�
1�	=
�(
��	
��
(�0�
1
���

(�	����� ��
6
(�

	��(���1
�1
�1�����
�
�1�	
�(��
1�
1������0�*�
�1�	��0

(���
��

(��3 6/ 6436 ��
�����	 ������	 +
�
:����	 ���	 ��������	 :���������	 ��	 �������	 �
������	 ��	 ���������	�
��	��	2����	������	����)
��	C2< <�I �
�

.��
���
�
1�(��0�
�0B�
�
���������������	$����	$����	��	��������	;	��	�����	������	��
�0��	��������6	
;	 �������������	��	;	 ������)0�+
����� �.����
�0�
�����
��

(���1�+(�
1����������	
(����
1
��	��
�
�����0�*�
� �
(� �00

���1(� (�
� ���

(� �1
	�

(�'� ���
� L� 	=��
�1�� ���1��1���� L� 	=��+�
��1�N�
� 
1� L� 	��
��

��1�N�
��

��(
�L����
���
��+
��F��(� 	��*�
��1
��*C

�����
�L� 	��

�B

�B
��=
�0	���� +�
��1����
0
�+
((����
		
�����	
���(0�(�1�+�;��	1

�+�
��1����?��N�����(
�L�+���
�(

�	�����������1�����
�	
�
1���
�1
�
�
(�(�	�
��(��
1�+�
��1����L�������	
 �



�

� ���

��
1
��	��
�1
����		
�
��0�
1
��
��1���
��	��2�		
��
��
���
���3 6/ 6436��	=.9�%��	
(���((���(�	���	
(��
	
�6#.��
��
���
�����1�
		
������0�*�
�	
(��00

�1�(����(�	
�
(���
�1( �
4=�((����1���� 

����1

� �=��0�
1��1(� 0
��	C�
(� �
� +�����
�
�1�'� 
		
� ����+���
� 
((
�1�
		
�
�1� ���
������1� �=��
� 
�1

0
�(
� ��1�		�
*�N�
 � %		
� 0
��
� L� ��1
��
� 	
(� +�����
�
�1(� �
� 	=X1�1� 
1� �
� 	��
-�*�������
�(���0�
��C1

��=��1

�
�1����

���0
��
	����
��3 6/ 6436��

�����
�����
�0	�1
+�
�
�
0�
�	
(�0�
1
���

(�+������

(�0��
�	
�1


�1��

��
��
���
�
1�(
(�
���
��( �
�

3<@<J<E< 2��6�+�	���

4�� 0	�1
+�
�
� .4%6�.� H.00
��

� L� 	�

� 
1� ���01

� L� 1��1� P*
I� 
(1� ��� 0
��
1� 0�
1�� 0�
� 	�� ��((����
	���	
������J(�9��

���(�7�
�����
0��(������

������
1�����
��1�	
(��
�+����1��(������J( ��
4
���J(�9��

���(�7�
����
(1����0�J(�1
C(�
�
�	��=��
��
�(�1���
����B���1��1(����O�������01��1����
1�1�	��������B���1��1(��
1����1�	��������
�	��0	�(���0�
1��1
�
(1�6BP1
��&6B�����H������B�� I�
4��0	�1
+�
�
�

����1

��
(���++���	1�(� 	��
(�L� 	������	�1��
1�L� 	������	�(�1�����
(�0

(���
( �8�� 	=���

�00�
1
� 	
� 0��
�
�1�*
� �
� $� T� �
� 0

(���
(� 
�� (�1��1���� �]�		
11
�(�
� 
�� #
���
� ���� �������
B���1��1(��
��
���J(��������0

(���
(�(

��
�1�0�1
�1�
		
�
�1�
��(�1��1�����=�		
11
�(�
 �
�
8�
����1


�1��

��
�$��O���
�	��*�
1��
�"��O���
�	�
*
��1
��(�(�1
(��
�+�
��1������B���1
�1�'�6�
��*�J��
7��1(���B
(�
1�6BP1
��&6B�������U�����
*���(�
���1

��
�1���
�+��(�0�
�(
����
 �.�4�KJ��6BP1
��&
6B������4�
�
(�
1�6�
��*�J���
(�������	
(�0
��
�1�0
�0�(

��
(������0�*�
�
�1( �4
�

���
(����
������	�1�0
���
�(��0

1��
��
�(�
��
�1


�1��

�����
���
�(�	�1�����	1

��1��
�L�	��+�
��1����0�
����
�
*���(�
 �
.4%6�.�(
�(�1�
����(���
�	�*�N�
��
�
�(
����
		
�
(1������


+��
��
(�(

���
(��
�	������
		
�7��(���
�
�	��(�	���
�1����
�	��7��(����
�	��+�
��1����
1��
�	=
�0	�����
�	��0	�1
+�
�
�����	�1����
(���(0�(�1�+(�
�����1�L�	=
�0	���0�
1�*����
(��
�1

(�(���������
(�(

���
(�(����������6��(
�	�*���
�	�
1��
�	��78.��
�
(��
*���(�
(��
�+�
��1�����
1� �
.4%6�.��
�1
����		
�0�(�����
������(0�(�1�+�
��0	�(�����(���
������
����(

���
�	
�0	�(�1
��(�

(�	�
0�((��	
 �
�
���	)��������	��	���������	�������������	��	���������	����	�����
��	)��	��	)���	�
������	��	�����	
������	 �������������	 �����	 @99	999	 ��	 399	999	 )��������@F<	 !B��	 ��	 ���	 ������	 ���	 ��K�	
�))��=�����:6	 ��	 )���	 B���	 ���
�������	 ��	 ������	 ��	 ������	 �����	 ����������	 ��	 ��	 �����	 ���	
)��������	 ���8���	 )��	 ���	 )����:�����	 ��	 �����	 ������	 �������������	 ��	 ���������	 ��	 399P6	
�8��������	���	J<F99	)��������6	���)�K�	��	�
���)��	)������	���	���	:�

����������	�
����
��	)��	
���	 ��)�
��������	 ���	 )����:�����	 ��������
�	 )��	 ��	 �� �<	 ���	 )����:�����	 ��	 ��.����	 ��	 ��	
 �7��(��(�����	 �����������	 )����
������	 ��=	 :���	 )���	 ��	 )��������	 
��	 ������	 ���	 ���=	 ������	
�
)���������<	
	
��	
�������	��	)�������	��	��	��	���8�������	�����	)��	�
�����	��	��8���	�
������	��	���������<	
��	�����	������	�������������	��	���������	����	���	
����=	)�
�����<	��	���	�
��������	��,	��������	
����	���	�������<	���	�����	���������������	��������	��?�����0��	����	�����������	���������6	���� �	
��	��	�������	�
������	��	���������<	��	�����
	��	)�������	��	�����	)��	�
���	��)���	399G<	
��	 �=����	 
��������	 ��	 �����
	 ��	 ���8�	 ���0��
��	 
��	 ���8�����	 ;	 ������	 �)
���������	 ��	 )���	 ��	
�����	������	�������������<	��	 �7��(��(�����6	��	������������	���+��	��	)���	��������
�<		
	

�	*�)���	@	��	��	�+���8�	�
�������	%	
	

(	���	8����	��+���������	����������������	Q	
(	���	�
����	�������8�	��	�������������	��	��������:�������	���	�������<	

������������������������������������������������
���6B�++

(�

0
�(�����	���
�*����	��
�	�11
����1

�	=�		
11
�(�
 �



�

� ���

	
�	F	��?��=	���������	%	
	

(	)�������I���8�������6	���������	;	���8���	 ��	��+���������	���	��������8��
�	�������������	��	���	
�������	�����
������
���6	���������	
��������
�
������
��������

������������	���
��
���	���
����
�
��������
�
���	�������
���
����������	
����
�
��������	���

���������
���������
	

(	 ������������	 ���	 ���)�����:�	 �����	 ��=	 C��������8��
�	 �������������6	 ����6	 ������������RD<	 ��	 :���	
������	��	)����	��	�
����������	������	Q	
	

(	������������	���	�������6	��������������6	�������6	�������	����	���	�����������	�����=	Q	
	

(	:��������	���	�������	M	��::
�����	�����	)��:�������������	��	)��:����������������	Q	
	

(	 ��)
����	 ���	 )�+����	 M	 
�������	 �
��������<	 ��	 ���	 �����	 ��::�����	 ��	 ��)
���	 ��	 )�+���	
����)0�+K��	��	2��	���	��	���	����
��	
��	���	)��������	��	�����������	)��	��	������<		
�

� � "  4=��1�����
(�
�1

0
�(
(�'�	=
�
�0	
��=����
*���(�
�0�
�1��

�
��		
�1����
�
��*
���H/�6.I��	=.E%#/8&�7%�

4
(���J
�(��=.E%#/8&�7%�0
���
��
�1��
(� ��1�(�1���(� ;�+�
��1����?� �

(�
(�0�
� 	
(� 
�1

0
�(
(�
1�
�
(1���
(� L� +�����

� 	
�
(� �
(���(� 
1� �11
�1
(� 
����1�C

� �
� +�
��1���� �
(� (�	�
��( � 4
(� 
�1

0
�(
(�

�0
��
�1�	
�0	�(�(���
�1��
(��
(���(�1��
��(��

(�	
�0
����1�+�
1�	=�0�
�1����
	 ��
���(��
11
�	�*�N�
��	
(�+�
��1���(�����(����
(��
���(
��
����(1�1�
�1�0�(���
�0
��
�1��
1�	
(��
����
(�
(0��1���
(��
�+�����
�
�1�0��
��
�1J0
��
�+�
��1���(�(��1�N��(��
�1���
��(1��1
( ��
4=��1�����=.E%#/8&�7%���(
�L�
����
�*

�	
(�
�1

0
�(
(�L��
11

�
��0	��
��
(���1���(��
�+�
��1����
N��� 
�0���
�1�L� 	
�
��
(���� 1��1�
��0

�
11��1�����(�	�
��(��
����
	�00

� 	
�
(����0�1
��
(�
1��
�
����1
��
�	
�
�
�0	�J���	�1� �
4=�		
11
�(�
����(1�1�
���
�N�
(1����0�
1���	�C

�
�1���++���	
�L�1
��1

���
����(
�B
�
1
�L��
�����

���
+

��( �
6
� (��
1� 

(1
� (���
�1� �������� �
� 	=
�1

0
�(
� �=��1��1� 0	�(� N�
� 	
(� (�	�
��(� N��� 

����1

�1� �
(�
0
��	C�
(� �=�		
11
�(�
� �
11
�1� 1��1� 
�� S��

� 0��
� 	
(� ��(N�

� �
� 0
�
� �=R1

� ��(� 
�� ��++���	1� �
4�
(N�
� 	
� 0
��	C�
� 
(1� ��1
�1��� 	
� 0	�(� (���
�1� 	
� (��
1� 

(1
� 1����� ��
� 	=
�1

0
�(
� �
� (��1� 0�(�
�
���
�1�����
�1����
�

�	��N�
(1������
��	
(�(�	�
��(�����

��( ��
�0	�(��	
(�
�1

0
�(
(��
����
�1�
0�(�+�
���
�1�	
�	�
��
�1

�	
(�0
��	C�
(��=�		
11
�(�
�
1�	������
���
�B
��
�	=��1���1���
�	=
�1

0
�(
 �
�
��
�+��1��
		
(�(��1�1
�1�
(��
����(���


�N�
�	
(�������((���
(��
���(
��
�1J0
�	�

����
�

�����01

�
����

�
�1�	=���������
1�����	=
�1

0
�(
��
1�N�=L��
�1�1

���=
(1����(�	�
����
�(
��B�
*

��
�(
�

�
11

�
L����
������(��
(�������
( �
�

�	�(�
�
(� 
�0�
�
��
(� (0���+�N�
(�L� �
11
�N�
(1������1� �1�� 1
�1�
(����(� 	
� 
�(
���.E%#/8&�7%� (�
�
�=��1

(�
�*���( �6
(�
�0�
�
��
(�
��C	
�1�N�
��0��
�����1�
��	
(���1���(�	����
(�����
((�1
�1����	��
��
1
����	� �
� ��1
�1���� 
1� �=�
*��
�1��

� ��0
C(� �
(� 
�1

0
�(
(� 
1� �
(� (�	�
��( � 3	� (=�*�1� 
�� 
++
1�
1J0�N�
�
�1� �=��1���(� �U� 	
(� 

0
�(
�1��1(� �
� 	=
�1

0
�(
� %�� 	
� (�	�
��� ����
�1� R1

� 0�
1��1(�� �
�
(���
�1�	=����
(��
����
�	=
(1�0�( �4��0

1
�
��	�*�
�
(1������(���
�1���0�
1��1
�
�1

�	
(�
�1

0
�(
(�
N��� (
� ��(
�1� 0
R1
(� L� (=
�*�*

� ���(� ��
� ��1���� 
1� �
		
(� N��� (=��0	�N�
�1� 
++
�1��
�
�1� N�����
	=��1��������


 �
�

6
(� 
�0�
�
��
(� ��1� 
���	�� N�
� 	
� �B���� �
(� �
*���(�
(� �
� +�
��1���� (�(�
01��	
(� �=��1

�
��
�
���
((�1
� �*�	
�
�1� ��� 1
����	� �00
�+���� � %�� 
++
1�� 	
(� �
*���(�
(� ������((��1� ��
�� 	
� 0��	���


����1
��1� �
(� ��++���	1�(� �=�		
11
�(�
� (��1� 	
(� ��
��� L� �R�
� �=����
� ��
� 0���*�*�
� �00
�0
��
 �
���1
+��(��
(��
*���(�
(��
�(��1�0�(��
���N���������((
�1�	
���
���	
�����
��
�	=
�1

0
�(
�
1�L��
�
1�1

� 	
(� 
�1

0
�(
(� 

((
�1
�1� 0�
+��(� ��� ����	�*
� 
�1

� 	�� +�
��1���� ��(0
�(�
� 
1� 	
�
(� �
(���(�
�������1(�H����
����0
�B
�(�����
(����(�*�
(���
�1
(����0���1��L�

�(
�*�

��
(�������1
�
(VI �
	



�

� ���

4
�
�(
���.E%#/8&�7%���(�*����������
�����

���
��	=.9463��������
�����1����	��
������������
��


����
	���B�N�
�����
��
0��( �4=���
�1�+��
��
1�����
��
(1��=���1

�	
�

�
1�(�
�	
���
�B�����1
����	�
�
(�(�	�
��(��
���A1
�(��1�0�(�	
(�(����
(��
���(
�
1��=�����0�*�

�	
(��7%�
1���%����(�	
�
(���1���(�
�
����
	�00
�
�1��
(����0�1
��
( �6
1�����
�����

��=��0�(�
���

��1�����	����
�����
*�*�
 ��
�

Q�(N�=L� 0
�(
�1� .E%#/8&�7%� ���
*�*�
� �
� ��(0�(��1� 0�(� �
� ��J
�(� 0��
� (=���
(1�
� (�
� �
11
�
N�
(1��� � 6��01
� 1
��� �
� (��� ���
(1�((
�
�1� (�
� �=��1

(� 1B���1�N�
(� 0
��
�1��

( � %�� 
++
1�� 0��
�
1��1
(� 	
(� 
��(��(� ���N��
(� 0
����
��
�1�� 	�� ��(
� 
�� 0	��
� �=��1���(� ���(� �
� ������
� ���
((�1
�
�=��
�0�
1��	������	�(�1�����
���J
�(�B�����(���0�
1��1(�H+�
��1�����
(��N��0
(��1
�0(����(��
��L�
���

�L�	����1
�1�����L��
11

�
��0	��
��
(���1���(�(0���+�N�
(VI�
1���=��1

�0�
1���
(����
(�+������C

(�
0��
������0�*�

�	
(�
�1

0
�(
(����(�	
�+�����
�
�1��
��
(�+�
��1���(�	��
�
( �
�

#��1
��
���J
�(����(��
(��
���������
(��.E%#/8&�7%����
*�*�
����
��N�
�+�
1
�
�1�(
�(���	�(�
�
L��
11
�N�
(1�����=����1�0�(�
���

�
��	
��B���=��1���(�
����

�1�����
�	��	�11
����1

�	=�		
11
�(�
 ��
�
�
�+��1����
����	����(����
�	=����
����1����	��1��1�0
���1�
�
 ����1
+��(���
(���1���(���1��1��	����
(�'�
0�
�
�
�0	
�	=��(�
�01�����=��
���1�����
�+�
��1��������(����
(��
���(
����(�	
����O�#�
��1������%�
�=.E%#/8&�7%����1����1�1�	
�
�1�*
�1��1
�0��
�	=
�1

0
�(
 �
4��(�1��1�����B��*
�L����01

��
����!���
��	��(�*��1�

��=���%�%6�H%�*�*
�
�1��
����
	�00
�
�1�
�
�	=
�0	���
1��
(����0�1
��
(I���
��	=%1�1�
1�	
�6��(
�	�
�*����	��
����
*�*�
�(��1
���(�
��

1���(�
��	
1(�0�
�	
�#8% �4
(���J
�(�+������

(���(�L���(0�(�1�������1
��

(��
��
1�����
�����1�0

�
11

��
�
+���
�(

�	����(
�
��S��

��
�+�
��1���(�����(����
(��
���(
�H�R�
�(��	
(�+���(����#8%�
�(

��(�����
/�6.���1��1������(�(�0�
���
�1

�	��0
����
�1
�
1�	������
		
�0
�*
����1����
1�(��1�
((
�1�
		
�
�1�

�(

��(���� +�����
�
�1��
���Y1(�0���*�*�N�
(�
1�������� +�����
�
�1��
(���Y1(�(�00�
1�(�0�
� 	
(�
/�6.�0��
�+���
�(

�	����(
�
��0	��
��
�1
		
(���1���(I �
�

.E%#/8&�7%��������(��
����

���*�
�0��
�(���
�(

�	
(�0�
���
(��
(�(�	�
��( �.�0�
1�
��
��
11
�����
��
0	�(�
�
(���1���(���1��1��	����
(�����(�	
����

��
�	=%�%6�'�
�

&� ��1�*
�1�������(� 	
(���1���(� ��		
�1��
(��
� +�
��1���(�;��	��
�������?�0
�0�(�
(�0�
�.E%#/8&
�7%����
*�*�
���=��1���(��
�+�
��1����(�
�	
(�(����
(��
���(
�H+
��F��(\��1B(I �6
(���1���(�(��1�
+������
(�L�����T�0�
�.E%#/8&�7%�
1�	
(�0�
1
���

(��
�	=.�%6�
1�(��1����1�*
�1��1
(�0��
�	
(�

�1

0
�(
( � 6
� �=
(1� 0�(� (�++�(��1� 0��
� ���	
��B

� (0��1����
�1� �
(� ��(�
�01���(� ���(� 	��
0
�*
����1�����
��
(�����	
(�0

�
11
���������(
�		

(��=���
�

� 	��N�
(1������
�� 	=
�1

0
�(
�

1��=�
*��
�1

�W�
�

&����
�+������C

�(J(1���1�N�
������7%�N����
11
��1�
��0	��
�L�	
�
����1��1��
��
(�+�
��1���(�����
(����
(��
���(
�H(���
�1����
�
�1��
(���Y1(�0���*�*�N�
(I�W�
&�	
(���1���(��
(1���
(�����(����
(��
���(
���1��*�	
�
�1��1�����	�
�
(�0
��
�1��

(�0��
�	
(���%�
1�
(��1�+������
(�L��
�1�1

�L�B��1
�
��
�$��T�0�
�.E%#/8&�7% �

�

� �  59%�6//-�39.�3/9�-%E3/9.4%�.�.7%43/-%-�'�<5%4�
�34/�.E%�[�

.� 	�� ��(
� 
�� 0	��
� �
� 	=.9463� 
�� ������ 	=%1�1� �
� (=
(1� 0�(� ��
�1��	
�
�1� 0
�����0�� �
� (��
���
�1
�	�(�1����H%����1������1����	
���-�%#���8E.-I �.����
�(1
��1�

�1


�1�
��	�(�
��=���1���
��
 ��
�
.�
��	
(��R�
(����
�1�+(�N�
�	=.9463��	
�6B�
*���
���((����
�*����	�������0�
�	
��
�+
1��
�-�*����
�	���

���
1�
��S��

�
1��((�

� 	
� (����� ����	��� 
�*����	��
� 	�11
� ���1

� 	]�		
11
�(�
�� (��(���(0�(

�
�
0
����1��]���*
��0
�
�1��=��1�
R1�0��	���HE3�I�
�*����	 �
�
4
(� 0	�1
+�
�
(� �
� 	�11
� ���1

� 	=�		
11
�(�
�� ���((�
(� L� ���

(
(� (1
��1�

(� ����
� 	
(� ���(��(�
�=��+�
��1���� (�
� 	�� +�
��1���� 
1� 	=
�0	��� H73#%I� ��� 	
(� ��((���(� 	���	
(�� �=��1� 0�(� �=
��(1
��
�



�

� �!�

��
���N�
 �6
� +���1����
�
�1�0�(
�0
��	C�
����(� 	����(
�
��0	��
��=��
����
����1����
++����
��
(�
��1
�
(��
�	��	�11
����1

�	=�		
11
�(�
�
�����
*�*�
 ��
�
4�� (�1��1�����00�
�
�������
(��
(�����1���(� ���+�
�
� 	=��(

��1������� 
�00�
1� 4.7�%-�������(��
1�
�
(� ���
((��

(� �	�
�+���1���(� ���(� 	�� 
�0�
1�1���� �
(� ���0�1
��
(�� N��� 0��
� ��� �R�
� ������
�
�]��1���(�0
��
�1�R1

�'�
�

&�����1
��
(�0�
�0	�(�
�
(�1�1�	��

(�H�������1
(I�W��
&�+
��1�����
(�
�1

�0	�(�
�
(�1�1�	��

(�H0�
1�*�
(I�W�
&�

�����
(�L�0	�(�
�
(�1�1�	��

(�H0�
�		C	
(I�W�
&�

�
���N��
(�0�
�0	�(�
�
(�1�1�	��

(�H�����


�1
(I �

�

�����	����
��������	���	���)
������	�
�������	���	���)
������	)���������	�S	��	���
������	���	
��	 �K���<	 �����	 ������������	 �����N��	 ��	 �����	 �����:	 ��	 �������	 ��	 ���	 ��:�����������<	 ���	
����

������	��	��	���
��	��	������������	%		
	

(	���	)����	��	���)�	����	��	�
������	��	��	����	��	T�8��	Q	
(	���	��:������	���	�
)�����	��
��	��=	���+����	Q	
(	���	���:�����	���	���)����+����
�	
��	+�������	���	���������	�8��	���	�������	��	���	�)
�������	
;	��	+���<	
�

4�����0	
��1��
1�	]B�1�
�*����1���
(�0�
���
(��
���
�
1��
(���1���1���(��B
K�	
(�0

(���
(�����

��
(��

��*
�1���
�0
�(
�
�����01
�*	���	
�
1����(����&�����0�*�
�
�1�0
��
�1�+ ��
���(� 	
(� ��(� 	
(� 0	�(� ��++���	
(�� 	
� 0�
���
(� �
� (���(�� 	
(� 0�
���
(� ������&(������� 
1� (������� (��1�
���0	��
�1��

(�
1�
�1
��*�((
�1� 	
(���(�
��

(� 	
(���1

(�
1� �	(�(��1������ ����((�����	
( �6]
(1����(�
�
11
�0
�(
�
���B�
*
�*	���	
�
1�1
��(�

(�	
�N���+��1��00
	�L��
���	1�0	
(���1

�
���1(�N�
�0�
1
��
��1�

1����
����1����0

��
�1�1��1�	
�
�(
�(��L������1����N�]�	�J���1����0�	�1
��
�	]
�(
��	
����(J(1C�
 ��
�

4]��(
��
��]���(J(1C�
��
*���(����]���0�	�1�*
�0

+�
���1��	��0
����1���
(�	�*�N�
(���(1�1�1����
		
(��
;���(�	��

(�?�����;����	������	��?�����1�((
�1�L��
(���B�

(��
(��B�
*
(�B�1�
�*C�
( �6
11
�(�1��1����
���0	�N�
�	��*
(1�����
(��0�
�1
�
(�
1�	
(�+
�*�	�(
�H0
��	C�
(�+������

(I��
(1����1

&0
����1��
�H�00
	�
�]�++

(��0��
�
�1�L�	��0

(���
   I��
1����1�L�	��N��	�1���
�	��0
�(
�
���B�
*
�H

1�
�(���������(   I �
�
3	� 
(1� ��0�((��	
� �
� ��

� (�� 	
(� ��J
�(� ��(� 
�� S��

� (��1� 
�� ���N��1���� ��
�� 	
(� ���
�1�+(� �]��
�
0�	�1�N�
�0
��
�1��

�
1�
����

�	�1������
��	
(�
�(�	1�1(���1
��( �8��(��R�
�0�
	

��]���	��1�����	]���C(�
�
�1��(��
��1��1�	�
���L�1��1����
�1��]
(1�0�(��
(�
� �
�

4
� ��
��1C

� 0
��
�1��

� ������ L� 	�� 	�11
� ���1

� 	]�		
11
�(�
� ���(� 	
(� 1
�1
(� 	�*�(	�1�+(� �=
(1� 0�(�
(J(1���1�N�
�
�1�1
����1����(�	
(��
*���(�1���(�
1�	
(���J
�(���(�
��0	��
����0	���
�*����	 �
�
4
(� ���0	��
�1�
�1�(� 
�� 1

�
(� �
� +�����
�
�1� ��0
��
�1� �
(� ���0	��
�1�
�1�(� 
�� 1

�
(� �
�
0�	�1�N�
�'�	=��1����
��	�
����
��	
��
�+
1�
(1�0
���
���	
 �
�
��	8���	���8���	��	������������	��	��8���	���	�������	�����������=	���	�����)����+��6	��	:���	������	
��	 )����	 ���	 8����	 ���)�
��������
	���	 �����8�������<	 ��	 �7��	 ��	 �����������	��	 :��������	 ���	

��������	��K�	��)������<	
�
������������������������������������������������
���4
�-�00�
1�4.7�%-������(��
������

	�1���(�
�1

�	=%1�1�
1�	
(���		
�1���1�(�	���	
(�����1��

��(�	
������
��

����������

��

�7���(1

 �
4
�*
��0
��
�1
����	�0
�(����0�
�.	����4���

1������
��7���(1

�
1���0�1���
�	=/
�
��0�
1��1�(�
�	=����
(��B��1�

(��
�	��
���(����*���
�	
�
�
(�0�	�1�N�
(�0��	�N�
( �3	�0��
(�����1�1
��(����
�1�+(�'��
&�
�����

� 	��0

1��
��
��
(�������
(��
����0�1
��
(��
� 	=%1�1�
1��
(���++�

�1(����
�����
���		
�1���1�(� 1


�1�
��	
(����(� 	��0

(0
�1��
�
�=��
��	�
�+���1�����
(���((���(��
��B�����W��
&��		�*

�	
(����1
���1
(����1���
�1�
�*	
�
�1��

(��N�
�	=%1�1�+��1�0
(

�(�
�	
(���		
�1���1�(�1


�1�
��	
(�W��
&�
����

�	
(�

	�1���(�+������C

(�
�1

�	=%1�1�
1�	
(���		
�1���1�(�1


�1�
��	
( ��

�



�

� �$�

4����(
�
��S��

��=����	���
�*����	�
(1� ����(0
�(��	
�0��
��	�
�+�

� 	
� 
D	
��
��B�N�
� +�����
�
�
1�
�
*���(

�	
�0�	�1�*
��=��
���1�������
((��

�
�1���1

����(1�
�
		
�
1�0�
1
��
��	
 �
�
�
%����1�C

��
�*���

����
���
���(J(1C�
(�0
��
�1�R1

����01�(�'�
�

& 	�� ���
����1����� �=
(1&L&��

� 	�� 
������� �=��1
�
(� ��	�*�(� �
� 0�
1�*

� �
(� 	�*�N�
(�
��(1�1�1����
		
(�Z����(��
� +���1����
�
�1����� 

1
���
���1��1��
� ��B�

��
(� �B�
*
(�
1��
�
+�����
�
�1(�N�=�	�
��(1
��=��1
�
(V�

�

& 	�����0�1
��
���=
(1&L&��

���+���
�	��0

(���
����	=��(1�1�1�������0�1
�1
�N���*C

�	=
�(
��	
�
�
(���1
�
(�
1� 	
�
�����
������B�

��
(��B�
*
(�������V����(�	
����

��
�	��	�11
����1

�
	=�		
11
�(�
���	�J������E3����1����	��	=.9463�����(�0�(�������
���
�*����	 �<�����1��1�	
�����
�

(1����0�1
�1��	��*���

����
��=
(1�0�(�0�((��	
 �

�
$���	
��	��	�����	������	�������������	����	�::�������6	 ��	:���	
��	��	���8�������	����	)���	����+��	��	
)���	 8���+��<	 �0�
��	 ������	 ��?�����0��	 )���K��	 ���	 ��0���	 ���	 �0�����6	 ��	 ����
��	
����������������6	���	:�������������R	��	�
���������	����	�0�:	��	:���	���)
����	���	�
��������	
)���	�����:���	��	���������<	
�



�

� ���

J< !����$������	*� 	��&��L	*�	��	�����	������	
���������� !�	��	����"�"��	

�

%�� ���
*�*�
�� 	
(� ��(0�(�1�+(� 
1� 	
(� �
*���(�
(� �=�����0�*�
�
�1� 
1� �
� +�
��1���� 0��
� 	
(�
0

(���
(� 
�� (�1��1���� �=�		
11
�(�
� 
��(1
�1 � 4�� ��++���	1�� 0
����0�	
� 
�(��
� ���(� 	=��
�1�+���1���� �
(�
0

(���
(�����

��
(����
��
		
(&�����0	��
�1��
(� (1
�1�*�
(��
����1��
�
�
�1�
1��
����0
�(�1��� �
���
��		�(1


��
�0
��	C�
��
�0
�(
�
���B�
*
����1��(�N�=
��8�D�
&
1&4��

�
��������(�
������
��
(�
(�*��	�(�(��1
�����Q.�������(
�	�(=
(1�

����L�	��0	�1
+�
�
��
�	�11
����1

�	=�		
11
�(�
�45�34%. ��
�
	=��
�1�+���1����L�	��

�����1�����	
��B
����
(1�	��* �
�

5�
� +��(� 	
(� 0

(���
(� 
�� (�1��1���� �=�		
11
�(�
� 

0�
�
(�� �	� (=�*�1� �
� 	
(� �����0�*�

� ���(� ���
0
��
((�(��
�0
�(
��
����(��
��
��
�	
�
��
(�����
�+�
��1����
1�(�
1��1��
�	
(�������

����1

�
����
��
(�( �6
0
����1��	������
�1���
(�0

(���
(��=��BC�
�0�(�	
(�+�
��1���( �
�

4
� 
�00�
1� ���6%8-� 
����1
� �
� ����� ��0	�

� 	�� ���0	
��1�� �
(� +�����
�
�1(� 
1� ������		�*
�0
��
B���*C�
�
��1

�
(��
�(1
��1�

(��=�����0�*�
�
�1 �.��
����
��	=�++

��
�+�
��1�����=
(1�1�����
(�
0�(� �	��

 � 3	� �=
��(1
� 0�(� �
� 
�+�

��
� ��1����	
� (�
� 	
(� +�
��1���(� ���� ������((���
(� �
� ��(
 � .�
	=��B
		
��
�	����((����
�*����	
��		
11
�(�
���	�(

��1���1�

((��1�0�
�
�
�0	
��
�
����
�	
(��
*���(�
(�
0�
�1��

(���		
�1
�
(��*
��(�H/�6.I���+����
������A1

�	
(���1���(��
��
(����(
����
(�
�1

0
�(
( �
�

� �  4%��5�436��

� � �  4
�0
��	C�
����

0�
�*
�

4�� 0
��
�1���� ��� 	�� 	�11
� ���1

� 	=�		
11
�(�
� (
� ���+
��1
� 1�����
(� ���� �R�
(� N�
(1����
�
�1(�'�
����
�1�

0�


�	
(�(�1��1���(�[�<�
	(���1�	(�[�<�
		
��
*���(�1����[�
�
��L�0
���*
P�
���1���
�1�������B��*
(���(�
��0	��
�0�
�	=.9463���
��	
�+�
���0

���
�1��
(�
0
�1�N�
(�� 	
(� ��1
�
(���1��	�(
�1� 	
�
(� ������((���
( � 3	� �=
��(1
� 0�(� �
� (�	�1���� ��
��	
����(� �
(�

�+	
����(�(��1��
��
(�0��
�+���	�1

��
�1
����	��
�

0�
�*
�����(0
�(��	
 �
�

3	��
�0
�1�J�����
��=��1�����
�

�����1��������(����
(��
���(
�
++����
�(��(�����0
��	��	
�����

0�
�*
�
+��� �
(� (�1��1���(� �=�		
11
�(�
� 
1� �
(� �
(���(� 
�
	(� �
(� 0

(���
(� ����

��
( � 8�� 	
(� Q.��� ��� 	
(�
���	��1���(��
��
(�
����	�
��(��	��

�0

�
11
�1��
����
	

���
���A1
�(
���(�++�(��1
��
��
(�(����
(��
0�
�	��(��1
��	
(���1
�
(�(�������(
�1
���
�1�(���
�1�������(�0��
��
�
�1

�
1�(
�(���	�(

�	
(�0

(���
(�
����

��
( ��
�

4�� 0
��	���1�N�
� ��� 

0�
�*
� 0
�1� (=
�0	�N�

� 
�� 0�
1�
� 0�
� 	
� ���N�
� �
� ������((���
(�
N���1�1�1��
(� 
1� N��	�1�1��
(� (�
� 	
(� 0

(���
(� 
�� (�1��1���� �=�		
11
�(�
� 
�� ���
*�*�
 � %�� 
++
1��
	=
�N�R1
�32<����"��=��0�(��1�����	���
�
��
�*��� ���
4
(� ��++�

�1
(� 0	�1
+�
�
(� �
� 	�11
� ���1

� 	=�		
11
�(�
� (��1� 	���� �
� 1���B

� 	
(��
$�T����
(��!&�����(�
��(�1��1�����=�		
11
�(�
��������(�0�
�	=
�N�R1
�3 2 < ��
�	=398%%��
����" ��
4�� 0	�0�
1� �
(� 0

(���
(� 
�� (�1��1���� �=�		
11
�(�
� �
� (��1� 0�(� (0��1����
�1� �
����
�(
(� �
�
+�
��1���� 0��
� �
(� 
��(��(� (���
�1� 0

(���
		
(� 
1� ���
	�00
�1� ����

� �
� (1
�1�*�
� �
�
���1��
�
�
�1�
1��=���01�1��� �
�

5�
��
(�
��(��(��
(���++���	1�(����(1�1�
(�������
������

0�
�*
�1�
�1����

*�
��(1�*��1�(��1�0�
1��(�
�
�
(�0��	��( �5�
�
�+	
�����0�
1�*�
����1�R1

�
�*�*�
�0��
� +��

����	�

��
(� 

0
�(
�1�1���(�
1����(��
����+�

� 	
(� 0
�1�N�
(�'� ��� 	�
�� �
� ;�0���1

�?� 	
(� ���N�
(�� 	
(� ��++���	1�(�� �	� (=�*�
��1� �=��
�1�+�

� 	
(�
��N��(�
1�	
(����0�1
��
(�L���N��
�
����

*�
���
��
(���(����1
�1��	�(�( �

������������������������������������������������
���6B�++

���1����	 �



�

� ���

�

3	�(=�*�1��
�

0�


�	
(�0

(���
(�
��(�1��1�����=�		
11
�(�
�'�
�

&�(��1�0�
���
�����
�B
�0

(���
		
�W�
&�(��1�0�
�	
�����(��
�0�
1
���

(�

0�

�
(�H��((���(�	���	
(��.9�%VI�W�
&�(��1����(�	
(�(�1��1���(��
�1
����	��
��
�1

0
�(
( �

�

3	��=
��(1
�0�(��
���
�1��
�0
�1�N�
(��
*���(�
(��0	�1D1��
(�

0�
�*
(�1
C(�0
�1�N�
( ��
�

4=5�.#�� 0�
� 
�
�0	
�� �� 
��	�(�� ��� ��0�
1��1� 1
����	� �
� 1


���� ��0
C(� �
(� ��(1�1�1���(�� ��0
C(� �
(�
0�
1
���

(� (�
� 	�� 0
��	���1�N�
� ��� 

0�
�*
� 
�� 	
�
� 0
�0�(��1� �
(� ���
��
(� �
� +�
��1���� 
1� �
�
(
�(���	�(�1�������

0�
�*
 ��
%		
�1
����		
��*�	
�
�1��
�����0���
��	
(����	
(��	
(���		C*
(��
���
���1��
(���1���(����(�	
����

�
���6568�H.����0�*�
�
�1�L�	��(��	�
�1���
(�
�+��1(�
��+��
�
��
(�0�

�1(I �
�

� � �  4�����

(�1���
(�0��	��(�
1��
�	
�
(���1���1���(�

4��N�
(1�����
�	=�		
11
�(�
��
�
��1�0	�1D1�R1

��
		
��
�	=���C(�L�	��	��*�
�
1��
�	����A1
�(
��
(�(����
(�
�
���(
 �
4
(��
��
(�
1�	
(����	1
(�����
�		�(�+�
��	
�1��
(��
����
(���
(��11
�1
(���
(�0
��
1(�
��	�
����
��	
(�
(����
(� �
� ��(
�� 0�
�
� N�
�� L� ��� ���
�1� �
� 	
�
� ��
�� �	(� ��1� 0

F�� �
(� ���N�
(� N�=�	(� �=��1� 0��
���0
�(

� ��� ���1��
�

 � 6
(� ���N�
(� (��1� 0
�� L� 0
�� �
�
��(� ���	
��B
�
(� �=��
� ��1���1����
�=�00

��

�� �=��� �
(���� �=��N��
�
� �
(� (����
(� 
1� �
(� ���0�1
��
(� �
� ��(
� �+���� 0�
� 
�
�0	
��
�=���	�

����(�	
�
�
�0	�����=�����

�L����
�0	�����=
�1


�
��+�
��1����N��	�+���1
���=��1
��
�	
����
�
�
�	��
��1
���
���
��������0�*�

�	��(��	�
�1���
�	
�
�
�+��1�N���
�1

�L�	=���	
�0
����

V ���
3	�
(1� ��0�
1��1��
�
�00
	

�N�
�*���
�	
�
�1�	
(�0

(���
(�N���(���
�1���
���1�����
�+�
��1�����
�
��(
������������0�*�
�
�1��
�(��1�0�(�
�����
�
( �
�

� � �  4=�		
11
�(�
�
��
�1

0
�(
�'�	
�
D	
�0
���
���	��
�	��+�
��1����

4
� ���(1�1� �

((�� �������1
�
�1� 0�
� 	=398%%� 
1� 	=.9463� H
�N�R1
� 3�+�
��1���� 
1� 2�
� <��1���
��
�
����I����+�
�
�N�
�(�
�	
(�� ��� ����0

(���
(�����

��
(�0�
�	=�		
11
�(�
�����T��=
�1

�
		
(�(��1�

�� (�1��1���� �=
�0	�� � �	�(� �
� 	�� ���1��� �=
�1

� 
		
(� �� 0	�(� �
� "�� ��( � �"� T� �
(� ��\��� ��(� (��1�
���+
��1�(� L� 	=�		
11
�(�
� 
1� 	�� 0
�0�
1���� �
��1� ��
�� 	=P*
�W� ���0
�1� ���(���
(�


� 	
� 
�00�
1� ����
�1�

�1

�	=�		��*
�
�1��
�	����
�
��
�	=��1���1��0
�+
((����
		
�
1�	�����
((�1���
�0
��
��
�
1�	�11

����1

�
	=�		
11
�(�
����(�	
�����
����1
����	�
1����(�	
����

��
�	��+�
��1����1��1����	��*��
�	����
 �
�

4
(� ��++���	1�(� L� 	�

�� ��
�

�� ���0

��

� ��� �
((�*
� (��0	
� �
� 	�� ��
� N��1���
��
� 0
��
�1� +

��

�
	=���C(�L�	=
�0	����L�	��0
�+
((�����	�(�1�����L�	��N��	�+���1��� �%		
(�0
��
�1���((��R1

������(1��	
�L�	��
����	�1����������1�
�����(�	=
�0	����
(�(�	�
��(���
(��*
�1(��
(���		
�1���1�(�1


�1�
��	
(����(���((��L�
	�� ��(
� 
�� S��

� �
(� ���01�1���(� L� �
� ����
		
(� ��
�
(� �
� N��	�1�� 
1� �
� (���
�1��� 	�
(� �
�
�B��*
�
�1��
���1B��
(��
�1
����	V�
�

4
(�
��
���(��	
��(����(�	
��B��0��
�	��+�
��1����0
�+
((����
		
�1��1����	��*��
�	����
�(��1�'��
�

• �=��(�
�

�	��+�
��1�����
���(
����(�	
(�	�*�N�
(��
����
	�00
�
�1��
(����0�1
��
(����(�	
(�
�
���B
(�0
�+
((����
		
(�
1�	
(�
�1

0
�(
(�W�

• �=�����0�*�

��
(��

��C

(�
1�	
(�(�	�
��(��

(�	��
��((�1
�W�
• �
����(1
��

���
�
�0��(
��
�+�
��1����(�
��
(�

 �

�

4
(�+�
��1���(��
���(
����(�	
����

��
�	��0�	�1�N�
��
�	�11
����1

�	=�		
11
�(�
�0

�
11
�1��=���	��


�
	��0

+�
����
��������N�
��
(�
�1

0
�(
(�
1�+���	�1
�1�	=���	�1����0
�+
((����
		
�
1�0

(���
		
��
(�
(�	�
��( � �	�(� L� 	=��(
� ��� 1
����	�� �	(� 	
� (��1� ��((�� ���(� 	�� ��
 � 6
(� +�
��1���(� 0

�
11
�1� ��((��



�

� ���

�=��1���0

� 	
(� �B��*
�
�1(� 
1� �
� 0
��
��
� 	
(� 
�01�

(� 0
�+
((����
		
( � %		
(� ���+�
1
�1� 	
(� 0	�(�
+
�*�	
(��0
���
��
�1�	
(�
�(N�
(��=
��	�(��� �
�

#��
�L��
���+����������	
(�0�
1
���

(�(��������	
(��
*���(�
(�0�
�1��

(���		
�1
�
(��*
��(��	=%1�1��	
(�
��		
�1���1�(�1


�1�
��	
(�
1�	
(�
�1

0
�(
(��	���

�1��
(�(�	�1���(�
1�(=
++�
�
�1��
�
�0���

��
�����C

�
����
C1
� ���� N�
(1���(� (�����1
(�'� 6���
�1� (���
�(

� 	=
�1
�
� ���(� 	=
�0	��� �
(� �
��
(� (��(�
N��	�+���1�������N�����1������	�L� 	�

� 
1�L���
�

�[�6���
�1���1���0

� 	
(���1�1���(�������
����
(�

�1

0
�(
(�
1��
(� 1


�1��

(�
1�0
�0�


� 	
(�(�	�
��(�N�����1��
(���++���	1�(���
�� 	
(�(����
(��
���(
�[�
6���
�1� ���
����

� 	
(� ��1

�
�1���(� �+��� �
� 0
�0�(

� ���� 0

(���
(� ��� 0�
���
(� ��B�

�1� 
1�
���1����[� 6���
�1� ���(1
��

� �
(� 
�0��(
(� �
� +�
��1���� ���01�
(�[� 6���
�1� ���

� ��� ���	�*�
�
(����	�N���+���	�1
�	����(
�
��0	��
��
�(�	�1���(�����
C1
(�0��
�	
(�(�	�
��(�N�����1��
(���++���	1�(���
��
	
(�(����
(��
���(
�[�
�

�
�0	�(�
��0	�(��=
�1

0
�(
(�������0�*��
(�0�
�	
�
�/�6.����(�
��
�1�	��+�
��1�����
���(
����(�	
�
�
0�	�1�N�
��
����
	�00
�
�1��
(�

((��
�
(�B�����
( ��
4=.9463� �� �����0�*��� �
(� ���
	�00
�
�1(� ���(� 	
(� 1


�1��

(� 0�
� 	�� (�*��1�

� �=����
�(� ���

(�
��
��.*
+�(&0�
�!��>���1�1� #�
��1����$�� 	=/�6.78��� 
1� 	
� #.#����� �5������
�� ���

� ���1�� (�*���
��
�� 	
� 69#����� 0��
� ���
	�00

� 	�� +�
��1���� �
� ��(
� �
(� �*
�1(� �
� 0

��

� ���
���'�
� !���0

(���
(�(���
�1���
�+�
��1�����B�N�
�����
����(��
����

 ��
�

4=.9463� �� ��((�� ����	�
�� 	
(� ��B��*
(� �
� ����
(� 0
�1�N�
(� ���(� �
� ������
� 
�� �((�����1� 	
(�

�1

0
�(
(��0�
1
���

(�(�������
1�/�6.�L�	����(
�
��S��

����#�
���0

���
�1��
(�0
�1�N�
(�(�
�
	
(�1


�1��

(��+���N�=�	(�0��((
�1����(1
��

�	
�
(�(1
�1�*�
(��
�+�
��1�����
���(
 �
�

���K
� ����
�(� �
� �
���B
� (�
� 	
(� ���&(
01� 
������(� 0�
� 	
� 6%8-� +��1� 
�+�

��
� L� 	�� 	�11
� ���1

�
	=�		
11
�(�
 � 6
(� N�
(1���(� (��1� (���
�1� ���
��
(����(� 	
� ���

� �
� 	=���C(� L� 	�� N��	�+���1����� �
� 	��
0
�+
((�����	�(�1����� ��� ����1�
�� �
� 	=
�0	�J���	�1��� �
� 	�� ��A1
�(
� �
(� ��
�1(� 0
�+
((����
	(�� 	��
��A1
�(
��
(����0�1
��
(��
���(
(��1

�
(�N���

����
�1�L�	����A1
�(
��=���(��	
����
((��

�0��
�+��

�
+��
�L�	��	
�1�

�
1� 	=��
�1�

��
�+�F�����1����
�(�
�(���0�(1
��
�1
����	 �4=.9463�����	��1��

�
�1�

�*�*��	
(���1
�
(��
�	=
�1

0
�(
�L��1�	�(

�	
(�1

�
(�;�+�
��1�����
���(
�?��;�(����
(��
���(
�?�����(�
(1�*��1�(��1(�����(�	
(�����
�(��
��
���B
 �
�

���(��

1���(���(����1���
�1����(� 	���
���B
��
� 	��0
�0

1��� 	
(�0�
1
���

(�(���������1��B��(���
�
���(��


���T��
(�+���(���1��	�(�(�L�	��	�11
����1

�	=�		
11
�(�
�
1�L�	=�00

�1�((�*
����+
��F��( ����(�
�=��1

(� �
���B
(� ����
� �
		
� ��� 1
����	� 1
�0�
��

�� 	
� ����

�
� �
� ��1��	�� 	=���
� L� ������	
�� 	��
��1�		�
*�
�� 	=����(1
�
� 
1� 	�� �B���
�� 	�� 

(1��
�1���� 
�0��
�� 	=����(1
�
� �*
�&�	��
�1��

��
	=�((����((
�
�1�� 	
(� 1
��(0�
1(� 
��1�

(� 
1� 	=
�(
�*�
�
�1� 0
���� (��(� ���1
�1�� ��� �B��(�1� �
� +���
�(

�
	=���C(�L�	��+�
��1����(�
�	
(�(����
(��
���(
���
�+���
�(

� 	
(���1���(��=��N��(�1������=
�1

1�
��
1��
�
0

+
�1����
�
�1��
(�������((���
(��J����0
�(�	
(����0�1
��
(�*���
�	
(��
���(
��
(�(�	�
��( �
�

.�
��	=�00���+������

����#���(����N�
��
�0�
�N��1����H�����		���(��=
�
�(�(�
��
�����(I��	=��1����
��
��

�1�����
(�(�	�
��(��
(�
�1

0
�(
(����B��*���=��B
		
�
1�0
C(��=��
�N���K���
��=/�6.�0
�0�(
�1�
�����
�=B�����
���*���

�
�L�	
�
(���B�

�1(�N���	
�
�0

�
1��
�����+���

�(��(�+
��(�(�00	��
�1��

(�
�=��
�0
�(
�
���B�
*
��
(�+�
��1���(��
���(
 �8�
�	
(�1


�1��

(��	
(�0�	�1�N�
(��=�����0�*�
�
�1��
(�
��1�1���(� �������N�
(� ������1
(� 0�
� 	
(� �-�%#�� H0
�*
���
� ���I� 
1� 	
(� ���(
�	(� 
�*�������
������

�1�������
	�00
�
�1��
�	��+�
��1�����
���(
��
(�(�	�
��( ��
�

4=5�.#��
�	=M���
��N���1
����		
���
��	
(�6#.��0
�0�(
���
����	��1������
���
(�1
(1(���������
	(����(�
	
(�0	�1
+�
�
(�	��*��(1�N�
( ��
������������������������������������������������
�!�/�6.��
(��7% �
�$�/�6.�
�((
��	��1�� ����
�1

0
�(
(��
(�(
�1
�
(�B���1�1�������0�*�
�
�1�(����	�������*
�
�1��
�	=�
����(�
��
1�
���

��
���
��
�0	�J��1���������(�	�
��( �
���/�6.��
(�
�1

0
�(
(�

	
���1��
�	=�
1�(���1�
1��
(���1�

(��
�(

���
( �
���/�6.��
(�
�1

0
�(
(��
�1
����	�1
�0�
��

 �
���6
�1

�9�1����	��
�	��#���1�������	�N�
��


�1�
��	
�



�

� ���

4
(����(
�		

(�.9�%��
�	=M���
�(��1��*�	
�
�1�+�
��(�(�
��
(�0	�1
+�
�
(���
�N���+���	�1
�	
�

0�
�*
�
	�
(��
(�
�1

1�
�( �4��0	�0�
1��
(�(�	�
��(�0�
1���0��1�����0	�1
+�
�
(�	��*��(1�N�
(�(��1�
���J�(�0�
�
	=.9�%���=�U�	=��0�
1���
��
�+�
�

�	
(�0�
1
���

(��
�	=5�.#����

0�
�*
��
�	=�		
11
�(�
 �
�

3	� +��1��11�


� 	=�11
�1����(�
� 	
(����
(��
� +�
��1����'��

1���(� H	
(���((���(� 	���	
(I�0
�(
�1�N�=
		
(�
(��1� 1
�0� 	��*�
(�� �=��1

(� H/�6.78I� ��(�(1
�1� (�
� 	
� +��1� N�
� 	
(� +�
��1���(� ����
�1� R1

� 
��
���N��1������
��	
��
(����

0�
� ��
4=.9463���
�1����(� 	
����

���1����	��
� 
�+�

��
�'�;�6=
(1���
�� 	
(��
���B
(�0
�+
((����
		
(�
1� 	
(�

�1

0
�(
(�N�
����1�R1

����
��
�	��N�
(1�����
�	=�		
11
�(�
����(�	
����

�0	�(�*	���	��
(�0�	�1�N�
(��
�
*
(1�����
(�

((��
�
(�B�����
(�
1��
�+�
��1�������1���
�? �
�

4�� (
�(���	�(�1���� ��� ���
	�00
�
�1� �
(� ���0�1
��
(� �
� ��(
� 
�� 
�1

0
�(
� �
� ���1� 0�(� R1

�

��	�(��
�
�1� 1��
��
� �

(� 	
(� ��
�*
��1(� �=
�1

0
�(
� ���(� 
		
� ���1� (=�	�
*�
� ���� (�	�
��(�� ��	
���))�,���	���������	��8������	���	��	������	���	�������������	�,��������<	
�

%�� -BD�
&.	0
(�� ��
� +�
��1���� �
(� ��	�*��(� (J��������� 

0
�(
�1��1(� ��� 0

(���
	� ���� 6>86�����
����1�(� �=
�1

0
�(
� �� �1�� ��(
� 
�� 0	��
 � 3	� (=�*�1� ��� 0
�*
���
� 7.%4%� H7���	�(

� 
1� �*�
� ���(�
	=
�1

0
�(
�0��
�	��	
�1�

�
1�	=��
�1�

I �
�

� �  �%8��3##3654�%8��%-838�.9�%8�

� � �  4
�0�
1
��
��1�
1�	����1��	�(�1��������1
����	��
�	��*�
�B�	
��
�

4
(�0	�1
+�
�
(�1
����		
�1���
���
(�;�

0�

�
(�?�'�	=.9�%��	
(���((���(�	���	
(��
1� ��
4��(
�(���	�(�1�����
��
(�0�
1
���

(�L� 	=�		
11
�(�
��
��1

�
(��=��
�1�+���1������
����������1������
�
����	�(�1�����
(1���
�����
�B
�L�
++
�1�

�
�*�	�C

�
�1�'�	
(�

0
�(
�1��1(��
(�0�
1
���

(��B��*
�1�
(���
�1�
1�	
�
��B�
*
��
�1
����	�	��((
�0
���
�0	��
�0��
����
�

�	
(���++���	1�(���
��	
�	�

����
�

�
1�
���01

 �4=��B
		
�1
�0(��=
(1�0�(�	���R�
�(
	���	
(�
�+�

�1(�.4%�H.*
��
(�	���	
(�0��
�	=
�0	��I��
678�H6
�1

(�������&(������I��/#�H/
*���(�
(��
�+�
��1���IV�
�

��
�� N�
� 	�� 	�11
� ���1

� 	=�		
11
�(�
� (��1� �
�*�
� 
�� 0
��
�1�� ��1����	
�� 	
(� +�
��1���(� �
� 1
����		
�
(�
(�������	=���N�
�1�0
�����0�(����1��1 �
4
(� �	�(� 	������ 
1� 0	�(� 	�
*
�
�1� 	
(� 0

(���
(� 
�� ���1��1� ��
�� 	
� 0��	���� (��1� �*�	
�
�1� 0
��
���(��
�1(�
1�0
����+�
��(����0
��	C�
��
�	=�		
11
�(�
�
��#
���
 ��
�

��1
�1

� 	
(� ����
(� 0
�1�N�
(� �
� (�++�1� 0�( � 3	� +��1� 
�(��1
� 	
(� �
11

� L� ��(0�(�1���� ��� 0	�(� *
����
����

�
��	
(���1��	�(��1 �
�
�
�

� � �  4�����0	
��1���
(�+�����
�
�1(�

�	�(�
�
(�0
��	C�
(�
��	�
����
��	
(�+�����
�
�1(���1��1��(��	
��(�	�
(��
(�����1���(�'�
�

• 	�� ��	1�1��
� �
(� +�����
�
�1(� ����	�(��	
(� 
1� 	
�
� 

����
		
�
�1� ����
	� 
�*
��

�1� ���
1
����	���0�
1��1��
����1�*
��
���((�

(��
1���
���(���	�1��L����
1�1

�
�W�

• 	
(���(0�
�1�(��
(�+�����
�
�1(�
�1

�K��
(�
�
�	
(�
1�K��
(��
����
(�W�
• 	
����N�
��
�����

1�1����
�1

�+�����
�
(�
1�0	�1
+�
�
(�(�
�	
(��00
	(�L�0
��
1�W�
• 	
����N�
��
����1����1�����(� 	=�11
���1�����
(�+�����
�
�1(�'��

R1�0
�	��*���
(�+�
��1���(��

�����������	�(�1�����
(�0��	��(�����N�
��
�	�(���	�1���
(���1���(�0��
�	
(�0�
1
���

(�

	��(�W�
• ��++���	1��0��
���1��	�(

�	
(�+�����
�
�1(�(�
��
(���1���(�	
����
((�1��1�W�

������������������������������������������������
���6���1���=>J*�C�
���
�(���
�1��
1��
(������1���(��
�1
����	 �



�

� �"�

• 	
(���	��
(��=��1�����
�0

�
11
�1�0�(��
�����	�(

����+�
��1
�
�W�
• 0
���
�

�1���	�1���
(���1���(�+������
(�L�	=B
�

&(1�*���

�W�
• 0
���=���
(1�((
�
�1�
��+�
��1�����
�+�
��1
�
(�(0����	�(�(����(�	��	�11
����1

�	=�		
11
�(�
�W�
• 1�
���

��
(�+�
��1
�
(�W�
• ���

1�1��
��
(�+�����
�
�1(����#���(�(����	�
�
�0�
��H#8%I �

�

�
0��(� �� ��(�� 	�� (�1��1���� 
(1� 0�
1���	�C

�
�1� ��++���	
� ��
� 	
(� (���
�1���(� �
� �
((
�1� �
� ������

 �
4=
��(1
��
��
(�0	�1
+�
�
(�
(1�

��(
�
�����(
�L��
����
�H�+ ������
�1(���&����1(I ��
�=����������	=%�
�0
�(
���(
�*�*

��0
��L�0
��0��
�+���
�0�
��
�0	�(�(���
�1����

�	
(�0	�1
+�
�
( ��
�

Q�(N�=
��������	
�+�����
�
�1�
(1�0
�
�1�(��L�	=B
�

�(1�*���

 ��
0��(�������(��1
�L���
�(�		���1�1����
��0
C(�����-�%��	
����
��
�+�����
�
�1�
(1�0�((���L�	=B
�

\*
��0
 �
8�� �
� �B��*
�
�1� �
� 
�(��1� 0�(� 	
� 0
��	C�
� ��� 

0�
�*
�� �	� 0

�
1� �
� �
� 0�(� R1

� (����(� L� �
(�
��0�
�1�+(� �
� ����

� 0��
� 
�*�*

� ��
� +�
��1��� � 4=���01���� �
� 	=B
�

� *
��0
� 
(1� 
���

� 0	�(�
0

1��
�1
�
����	�
��
�
�	 ��
�

� � �  �4��0	��
��
(�������	
(����(�	��	�11
����1

�	=�		
11
�(�
�

4
(� ��1

�
���1(�������	
(�(��1��
(���1
�
(� ��0�
1��1(�0��
� 	�� 	�11
����1

� 	=�		
11
�(�
 ��
�0�
� 	
�
(�
��++�

��
(��
����
�����=��1�����
���
���(0�����	�1��� 	
�
�0
�
��=R1

�
��*
��0
���

1���
(�0

(���
(�

��(�1��1�����=�		
11
�(�
��
�0��

��
�1�0�(�(=
�*�*

����(�	
(�����
�B
(��=�00

�1�((�*
�(��(�	=���
�
�
(�������	
( �
�
4=��1

�
�1�����
(�������	
(�0

��� 	
� 

	��(� 	�
(N�
� 	]�
*���(�
��
� +�
��1�����
�0
�1� 
�0���

�����
�
(���(�(�
�1��(�	
(�1


�1��

(��
��0�
1���	�

����(�	
(���	�
���1
C(�
�
��� ��
�
���	 +
�
8����	 ����	 �
���������	 ��	 +��	 :�������������	 ��	 ���)�����:<	 ��)������6	 ��	 ���8���	 ��	
�
:�������	������	�����)����+��	)���	)��������	��	��������������	���	+
�
8����	�����	�������	;	
)���	����K��	��	��	�����	������	�������������	�:��	��	���	����������	���	:���������	)��:����������<	
���	�
����������	��	����	�0��)	��	���)
�����	��	�O�����8������6	���	��������	��	����	:��������	
�����	
����	���8�(
8��������	��	�����	)����
���	������	�
��������<	
	

�B�


J� 4%5�-%.5�� ���
����1
�
� �
� 	�� 0	�1
+�
�
� .4%6�.�� ��(�
� L� 	�� ��((���� 	���	
� ��� ��J(�
9��

���(�7�
��������	�
��1����6%8-�����(��
1��
�	=��0�
1���
��
�	=��0	���1�����
�������	
(����(�	��
	�11
� ���1

� 	=�		
11
�(�
�'� ;�2�
� �	����
��
� ��� ��	������� ���%���
� ���
� ���
��
� ������ ���	� ��
�
��	������
�����
����	
������
��
��*��	������������
������	�*
������������	+
�	�	������	���
������������
��
�����	����	����	�����
����$����G���	
����
!�. �
�����	%����� ����	����������
��
�
����
����	�������

��� 
��
�� ��	� ����� ��	���� ��� 	
����	�� ���� ��
���
� 
�	� ���
� ��
� ��		����	�
�� ��	
%��� �H�	����
��� ���
��	�����������������
�	
����	�������
���!�
@��
���
��
�
����
��%����

�	������������������������������������	�����
���	
����
�� ��	������0����
�
���	�
� ���� �
��	�*�� � ���	����

���!� 2�� �
���	� ��� ��	�����	� ���	+
� ��� ��	
����
� ��� 
���������
�H������	�
����
��

������������
��������	������+	��?�" �
�

/
�	=
��
��
1�	�����0	
��1���
��
11
�	�11
��
�(��
��
�1�(��++
�
��=���1
�
�(�
 �
/�1

�	=���
(1�((
�
�1��
(���1

�
���1(��	��
��((�1
��
�	
�
�
�*�*
�
�1�0�((
�0�
�	=�����0�*�
�
�1�
N���	
�
�
(1�0
�0�(�����(
����
(��((����1���( �
6
		
(&���(
�����
�1��
��0

��

�	�
����
�	
(���+�
�

��
�	��0
��	���1�N�
�(0���+�N�
��
�	=�		
11
�(�
�
1�
�
���+���
�1
C(��	��

�
�1�	
�
�
D	
�
1�	
�
�0	��
����(�	
���(0�(�1�+���(�
��S��

 ��
4
(��((����1���(�����
�1���((�����
	�00

� 	�� +�
��1�����
� 	
�
(�������	
(�0�
�
�N�
� 	�� 

�����1����
���� (����
(� �
� ��(
� 
(1� 1
C(� +
�*�	
� 
1� N�
� 	
� �����

� �J(+���1����
�
�1� 0
�1� �����
�*

� 	
(�
0

(���
(�
����++���	1� ��

������������������������������������������������
�"�.���1�������6%8-����"���
(����! �



�

� ���

�

4
� (��1�
�� ��� ������	
�� (�� (�0

��(����� (�� +�
��1���� 
1� (��� �����0�*�
�
�1� (��1� �
(� �����1���(�
���
((��

(� L� 	�� 
��((�1
� �
(� ��1���( � 4=.9463� �� 
�1���� ��
� 
�+	
����� 0��
� �1��	�
� ��� ���

� �
�
+�
��1����L��
(1���1�����
(�������	
( �6
�+�1�
����

��
�
��1�0

�
11

��=��1�		

�	
(��((����1���(�N���
(��B��1
�1��
11

�
��0	��
��
(�+�
��1���(�
1��
�0

+
�1����

�	
(���1���(�
��(1��1
( ��
�

� �  �%8�4%23%-8�39�38�%98.�4%8�.�4.�45��%�6/9�-%�4=344%��-387%�

� � �  4=��1������	1�

		
�

4=.9463����
*���(��	
��"�����������L�4J���	��-
����1

���1����	
�;�4=��1������	1�

		
����(�	��	�11
�
���1

� 	=�		
11
�(�
�?� ���(� 	
� ���

� ��� #�
��� �

���
�1� �
(� �
�1�N�
(�� 
����((��1� ���� ��1
�
(� �
�
1


����
1�

(0��(��	
(��
�1��(�	
(��B��0(���0	�N��(����(�	��0
��
�1����
1�	��	�11
����1

�	=�		
11
�(�
�'�
+�
��1����������1�������	1�

����(

1�������1����(����	
������
��
�	=
�1

0
�(
 ��
�

6
11
�-
����1

���0

��(��
��
11

�
������
��
��
���+���1���(����
�

(��
�	=��1������	1�

		
�'��=��
�
0�
1� 	
� �
��1� L� 	�� ��	1�

� 0��
� 1��(� 
1� �=��1

� 0�
1�� 	
� ���
	�00
�
�1� �
(�0�1
�1��	�1�(� �=
�0

((����
�
1�(1�N�
� 
1� ��	1�

		
� �
(� 0

(���
(� 
�� (�1��1����0
����

� 
1� 
�� 
�(N�
��=
��	�(�������1���
�1�0�
�
	=��(
��
��
���A1
�(
��
(����0�1
��
(��
���(
 ��
3	��
�(=�*�1��
0
����1�0�(��
�����	

�������N�
����(��
�(=�00�J

�(�
�	
(�0�1
�1��	�1�(��
�1��(���
�
	=��1������	1�

		
�0�
1����0�(1�	�1�N�
��B�����
(1�0	
��
�
�1�(��
1��
���	1�

 �;�2�������	����+	�����
�
����	������������������8�����I�	����� �������
�� �
�����
�������������
��
������	������	
��������
�
��
�������
� '� ���	���	� 
�
� �����������

!� 3���� ����������� ��� ����+	�� ��������� ��
� �	���

�
�
� ���	����

��������
�����	�
�"��1
	(�(��1�	
(�0
�0�(���1
����1�+(��
��
11
�-
����1

 ��
8���
�1�

	�*��
����(
�����0	����;���	���
����������������������
��
�������	����	�������� ��
�	�����
���
� � �������?���� 	=��1������	1�

		
�
(1�
((
�1�
		
�0��
�0

�
11

�L��
(� ��������(��	��*��(�
1� +P�B�(�
��
��	=���	
��
�

1
���

�	
��B
�����
(��00

�1�((�*
( ��
�

�	$��	 ��	 
������	 )���	 ���������6	 ��	 )����
��	 ����������	 ���	 ��������	 ����	 ��	 �����	 ������	
�������������	%	 �����	 ��	 �
����	 ��
���	 ��	 ��8����������	 :�8���+��	 ;	 ��	 :��������6	 ��	��,��	 ��	
�
��������	 ��	 ��
���8��
	 ���	 )��������	 ��	 ��	 ����	 ��
)������������6	 ��	 �
)��������	 ��	
��
�����)�����	���	����8����	#3G<	
�

� � �  4�����������1����
1�	��(
�(���	�(�1����0��
�	�11

����1

�	
(�


0
�(
�1�1���(���*�1��
(�

4�� 0
�(
� �
� ���(��
��
� �
(� (�1��1���(� �=�		
11
�(�
� 0�
� 	
(� �	�(�� 	
(� 
�0	�J
�
(� 
�� 
(1� L� (
(�
��	��1�
�
�1( ��
�

�������������	�����	������	��	��?��	�
�����6	8����	��+��<	���	���)����	����:��������	������	��	
��,��	�::�����	)���	������	������	��	��������������	��	���	��)�
����������	�
����8��	8
0����
��	���	
�������������<		
�
�
�

������������������������������������������������
���7�
�
&�B�
C(
�E%##-/M��	�
(��
�	��-
����1

���1����	
��
�	=.9463 �
��� Q � 4%�%M�-%�� % � �.--.&�/96%�� ��
�� 	=.9463�� 4�11

� 
�(
��	
� ���1

� 	=�		
11
�(�
�� %��1���(� .�1

�
�1�� 6�		 � E���
(��
���! ��



�

� ���

� � �  4��0
��
�1����

��+���1�����
�	��0
��
�1�����((�
����6��

�9�1����	��
�-�+�

��
��
�	=.9463�'�
�
;�1����
� ��
� ����������
� %��� ����	������� '� ��� ��)�	�
�� ��� ��� ������� �	��J��
�� ��� ����������� � ���+
� '� ���
�����	�� 
�	����� �����
� �����
� %��� �������� ���� ������
� ��� ��4�� � ���	���	�� ��� ��� �������
� '� ��� ���	��
��	���������'�����	
������������ ������	�
��!�.��
������
�������
����������	���
�%���
��
���������	����������
������ 8� ����
� �	
���� ��
� ���������
� ����	����
� ���	� %��� ��
� ���������

� ��� �	������� ��
� �	�
�!� . �
��
� ���������
�������������	���

�
�
��������%����
������	����	�	����	������	��� 
�*���
�����	��? �
�
�
/�� �
� 0
�1� L� 0
�0

�
�1� 0�
	

� �=�		
11
�(�
� �B
K� 	
(� 
�+��1(� 0��(N�
�� 0�
� 
((
��
�� �	(� (��1� 
��
(�1��1�����=�00

�1�((�*
�
1��=��N��C

�1�	����A1
�(
��
(�(����
(��
���(
�N�=���+�
�
1�L��
(�

��
�	
�
�
0�
���
(�(��	��

�
1��
���
 ����
1��1���=
(1��C(�	
�0

��

�P*
�N�=�	�+��1��*�
�0��
�0
��
��
�	
(���++���	1�(�
+��
�L�	=��
�1 ��
�
4=
���
���
�
�1�(����	�
1�+���	��	�
(1�L��
1��*�
��0
���
���	�'����
�+��1�N���*
����1����(��������

(�
0
�0	���
�	��

(���
������(��
��B���
��=R1

����+
��1��L���
�(�1��1�����=�		
11
�(�
�0	�(�1�
� �#�
1
(�
�
��
����(1�1���
(�(1
��1�

(����
	�00
�1��
(���1���(�
����

�1�����
(�0
1�1(�
1��
�	
�
(�+���		
(��L��D1��

1����(�	=���	
����1

���1

�
���1������1��
���	
 ��
�
4�11

� ���1

� 	=�		
11
�(�
� �=
(1� ��((�� 0
��
��
� 	
(� (�1��1���(� �=�		
11
�(�
� 
1� �	� 
(1� 0�((��	
� �����
�=B���
�=��1���0

�	
�0
��	C�
��C(�	
�0	�(��
��
�P*
�
��'�
�

� ��1
�1��1�	
(���++���	1�(�
1�	
(�+��1
�
(��
�
�(N�
�	
�0	�(�1D1�0�((��	
 �
� .00�
1��1�����
�+��1(�
1�L� 	
�
� +���		
� 1��1
� 	=���
����
((��

�0��
� +��

� +��
�����0
��	C�
(�


����1
�( �
� 6��(1
��(��1����

���(1
��(��1���
��J����N�
��=�00

�1�((�*
�+���
��	
�������
	�00
�
�1����
	��*�*
�
1��
�	����0���1��L�	�

�
1�L���
�

 �

�

���
��
� +��

�� �	�0�
�A1��00�
1����=�*�
�(�
� 1��1��
�N���(
��
1�
��0	��
�����1� 	
�6��H����(I�� 1��1�
��
���1��1� 	
(��	��(���
�
�1(���=�U� 	=��0�
1���
��
��
��(

� 	��+�
��1����
1� 	��0
��
�1������
11
��

��C

�
�1��1���(
�
��S��

����(�	
�1
�0(�
1�	�����1����1� �
�
��
��
� 	=�		
11
�(�
��=
(1�����
��
�1��*�
� 	
�0	�(� 1D1�0�((��	
���C(� 	�����((���
�0��
�N�
� 1��1
(� 	
(�
�����1���(��=��
�
�1
�
�
��((�
����(�	����	1�

��
�	=��
�1�(��
�1�
����
(�����(��
��=
(1�0�(�(�++�(��1 �4��
0
��
�1����
(1����1���
�
1��
�(=��BC�
����L�	��(�
1�
�������
(�0
�0�
�1��

������R�
�L�	��+����
�	=���	
�
0
����

���������		C*
 �
4��0
��
�1����
1�	
(���1���(�N������1���
����
�����

�
�1�0�(�N�
�	=
(0��
�(��	��

��1��(�	
(�
(0��
(�
�
� ��
� H�����1�+(�� ��	1�

	(�� (�������� +���	����I� (��1� ����

��( � %�� ����	�(���� ��
� �00
��B
� 0	�(�
;����

1
�?��
�	��0
��
�1�����
�	=�		
11
�(�
�
(1�L����
�1

 �
�

4��0
��
�1�������1���1

�
��
����(�1��(�	
(�
(0��
(��N�=�	(�(��
�1������1�+(�HB�
(����	
�;�N����
�0
�1�0�(�
1��1� 1��1
� (
�	
�?I�� ��	1�

	(�� 
�1
�(��	��

(�� +���	����V�W� ���		�(� H0�
� 	�� ������((���
� 	
(� ��(� �
(�
��1

(� 
1� 	
� 

(0
�1I�� �
(� 
(0��
(� �
�
�1� �
(� ��1

��1���(� *
P�
� ���N�
		
(� ��� 0
�1� ��*

� �
� 	��
0

1��
��
� 
1� �
� 	=
++���
��
� �
� �
(� � ��1���(� (��0	
(� ��(
(� 
�� 0	��
� 
1� N�
� 	=��� 0
�1� 
�0��
�
�1�
�
(�


 �
�
�

�
�(
�1�1�������0
��
1�.%#�'�.�1���(������1��
(�+���	��	
(�HVI�
%�� ���
*�*�
�� L� 6BP1
��&6B������ ��
� ��1���� 
(1� ��1�*
�
� ���(� ��� 0
��
1� 

1
��� 0�
� 	
� >��1�
6����((�
��1�����8�	���
�1�(�.�1��
( �
4
�0
��
1����(�(1
�L�(=�00�J

�(�
� 	
� 	
��

�N�=
(1� 	=
�1
�
�L� 	=���	
��
(�
�+��1(�0��
��
(�0�

�1(�
��
(�1��1�����=�		
11
�(�
�
1�N���
(1�L�	=�
�*��
��
���(��
�
(��
�����+��
(�'�
�



�

� ���

&����
++
1�0��
�	��+�
��1�����
(����	1
(�W�
&����
++
1�0��
�	��(��	�
�1���
(�
�+��1(�H0�

�1(�(��1���1�

((�(�
1���1C*

�1�	
�0
��
1������1�+I�W�
&�
��((�1
�(��	��

��
(�
�+��1( �

�
�



�

� �!�

�3�43/E-.�>3%�

��L�� 	�22����� 	

�
/��
�*
(��
�	=.*
��
���1����	
��
�	�11
����1

�	=�		
11
�(�
�

�
• 2����	���
����������	��� ������	�
��!�.��	��������������	
�
	������.9463������ �
• 2���
�
������������������������%�����
!�K������	���%����.9463������ �
• 2 ������	�
���8� ��
��*���	�
!�3��������������	� � 562.7���� � ��%����� 7���	��������������%�����������

������������<==>�<==?���	�� 76@33��.9463������ �
• 2 ������������	���������������������	��� ������	�
����.9463��.�1
(��
�	��

����1

���1����	
���4J���

�"���������� �

�'� 	��	��!!��������� 	*� 	�� �	

.��(����6%8-��
����
*�*�
�
�

• >/4439E%-�� 9
		J� H
�00�
1
�

I�� 2 ������	�
��� ��� L��	������� 6%8-� �
� ���
*�*�
���
�����
�	����� �

• �%-�>.5��� E�J� H
�00�
1
�
I�� 2 ������	�
��� ��� L��	������� 6%8-� �
� ���
*�*�
���
������
��

��$!� �

• 4%#%�2-%�� Q
��� H
�00�
1
�
I�� 2 ������	�
��� ��� L��	������� 6%8-� �
� ���
*�*�
���
�!������$$� �

�
.��(��
(���1

(�6%8-�

�
• �/5-%4�� #
��F��(
� 
1� �%�-%�� 7�
�
	� H
�00�
1
�

(I�� 2 ������������ ��
� �

��������
� ���
� ���

������ ����	�� � ������	�
��� ��� 6�	����
����.����
�� 6%8-� ��� 9�
�&��(&�
&6�	��(���
����������� �

• �%7.9���

��
��H
�00�
1
�
I��.����������������.��
����
������%������
������
�	�� ������	�
���
������	��	�
���6%8-��
�	��-�*����6
�1

���$��������� �

• �-/5439��7��
��
�H�
�(��
�1I��2������������	��� ������	�
������L�

��6�	�������M���	����	��'�
�*������ ��%�
	�	���������������	�
�
�����
�����
������
���6%8-��
���((
&9�
�����
�����
��
�	����" �

• �/58<5%��� Q
��&6	���
� H�
�(��
�1I�� 2�� ������ ����	�� � ������	�
���8� ��� ��0��� 	
������� ���
�
������������ 
������%��� ��� ��� ��*

���� 
�������"�� 6%8-� ��� 4��*�
���&-��((�		���� ���
(
01
��

����" �

��$$��� 	��	���*� 	

• ���	����������	��*����������
����������.���<��
1�7���
�
��#
���
��-�00�
1���
�	����� �
• E%##-/M�� 7�
�
&�B�
C(
�� 2����	� ����	�� � ������	�
���� -�00�
1� L� 7����
� 	�� 7���(1

� �
�

	=%�0	���
1��
� 	��8�	���
�1��
1�L�7����
�	��8
�
�1��

��=%1�1�L� 	��#�
��1����0
�+
((����
		
��
��
�	��$$$ �

• 2 ������	�
������	
������5.5!�7��������
�
����	
������
��
�	�� ��
�	������	���

����������6
�1

�


((��
�
(��		
11
�(�
�����.6.�������

����� �



�

� �$�

��'�� 	

• E%##-/M��7�
�
&�B�
C(
�
1�E-.88%�&7/-%4��2�	�
�
��2 ������	�
��!�,���������	���	�����	�
���������	��4
(�
((
�1�
	(�7�	�������� �

• 4%�%M�-%�� Q�
D�
� 
1� �.--.&�/96%�� %�����
		
�� ��
�� 	=.9463�� 2����� ��
������ ����	��
� ������	�
����.�1

�
�1�����! �

• 2344%6>.38%&�5�/9��� .*�C(� 
1� G.##-.9�� Q�^	�� 7�����	�
���8� ��
� ���

�
� 
�������
��
4=>�
��11�������" �

• 7�����	�
���8����� ��0���
������'�� ��0�������&��������(1C

��
�	=%�0	���
1��
�	��8�	���
�1���E
��0
�
0

���
�1� �
� 	�11
� ���1

� 	=�		
11
�(�
�� 4�� �����
�1�1���� +
��F��(
�� 6�		 � %�� 1��1
(� 	
11

(��
�$$! �

• 7�����	�
����������������	�����������(1C

��
�	=%�0	���
1��
�	��8�	���
�1���E
��0
�0

���
�1��
�
	�11
����1

�	=�		
11
�(�
��4�������
�1�1����+
��F��(
��6�		 �%��1��1
(�	
11

(���

• #%--.9���#
��F��(
��3�����
��%� ������
�N����
�O��%��1���(�<��
1&7���
���$$� �
• �457��.	����
1�E5%-39&�.6%��#
���
��/�
� ����	�
������
��*���	�
!�/�
� ��
�
�� �������������'�

� 
���������������
����	���	��"�����
�+����������
��%����#�J�
������� �
• %8�%-.9�3%5��2�
���N�
�
1�2/E4%-��Q
����2 ������	�
����#	����
��������� ��

�

��'�� 	

• 6/<5%44%��6	���
�� 7�����	�
������ ����&�����
!�:�	
� ������+��� ����	�������6B
���N�
��6
�1

�
3�+�����
(&��
�	��$$���0 �$$ �

�

 ��� 	��������	

,,, �
&���
*�*�
 +
�� 6��(
�	�
�*����	��
����
*�*�
�

,,, ��(

 +
�� 3�(1�1�1� ��1����	� �
� 	�� (1�1�(1�N�
� 
1� �
(� �1��
(�
�������N�
(�

,,, (
��1 +
�� 8���1�
,,, ��	�� *��� +
�� .*
��
���1����	
��
�	�11
����1

�	=�		
11
�(�
�
�


